MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

UILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Permasteelisa North America, Corp.

7933 N.W. 71% Street

Miami, FL 33166

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Division that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “UM CW?” Structural Glazed Aluminum Curtain Wall System — S. M. L.

APPROVAL DOCUMENT: Drawing No. PA-UM-SM-07-350, titled “UM CW System Small Missile
Preglazed & Unitized”, sheets 1 through 34 of 34, dated 05/20/05, with revision #1 dated 6/26/09, prepared
by manufacturer, signed and sealed by Conrado S. Casem, P.E., bearing the Miami-Dade County Product
Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade
County Product Control Division.

MISSILE IMPACT RATING: Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA # 05-0531.03 and consists of this page 1 and evidence pages E-1 and
E-2, as well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No. 09-0714.02

MIAMLDADE COUNTY Expiration Date: July 07, 2015
Approval Date: November 11, 2009
Page 1



Permasteelisa North America Corp.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No PA-UM-SM-07-350, Sheets 1 through 34 of 34, titled “UM CW System
Small Missile Preglazed & Unitized”, dated 05/20/05 with revision, #1 dated
05/26/09, prepared by manufacturer, signed and sealed by Conrado S. Casem, P.E.

B. TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Construction Research Laboratory, Inc., Test Report No.
CRL-7007B, dated 10/18-21/04 and 11/08/04, signed and sealed by
Nariman S Balsara, P.E. (Submitted under previous NOA#05-0531.03)
2. Test reports on: 1) Small Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1415, (Mock-up #CRB-MU-5) dated 11/11/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0531.03)
3. Test reports on: 1) Small Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1416, (Mock-up #CRB-MU-4) dated 11/17/04, signed and sealed by
Ivonne A, Ghia, P.E. (Submitted under previous NOA#05-0531.03)
4. Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1417, (Mock-up #CRB-MU-2) dated 11/29/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0531.03)
5. Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1418, (Mock-up #CRB-MU-3) dated 12/13/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0531.03)

WCM,(LLWZ@ /Zﬁ«
[

Maniiel Perez,.P\E
Product Control Examiner
NOA No 05- .02

Expiration Date: July 07, 2010
Approval Date;: November 11, 2009



Permasteelisa North America Corp.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC-2007,

prepared by manufacturer, dated 07/09/09, signed and sealed by Conrado S. Casem,

P.E.
Complies with ASTM E1300-98/04

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 09-0312.02 issued to E.I. DuPont DeNemours & Co., Inc.

for their “DuPont Butacite® PVB, Interlayer” dated 05/13/09, expiring on 12/11/10.
2. Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex NG
Clear or colored interlayer” dated 05/04/06, expiring on 05/21/11.

F. STATEMENTS

1. Statement letter of conformance with the current FBC 2007, dated July 9, 2009, signed
and sealed by Conrado Casem, P.E.

2. Statement letter of conformance, dated March 7, 2005, signed and sealed by Conrado
Casem, P.E.

3. Statement letter of no financial interest, dated March 7, 2005, signed and sealed by
Conrado Casem, P.E.

4. Articles of Merger of Permasteelisa CS Corp. and Glassalum Erectors, Inc. into
Permasteelisa North America Corp., dated February 29, 2008, signed by Mr. Alan
Paperny and Mr. Michael Budd.

G. OTHERS
1. Notice of Acceptance No. 05-0531.03, issued to Glassalum International Corporation

for their Series “UM CW?” Structurally Glazed Aluminum Curtain Wall System —
S.M.L, approved on 07/07/05 and expiring on 07/07/10.

Manuel Perez, P.E,

Product Control Examin

NOA No. 09-0714.0

Expiration Date: July 07, 2015
Approval Date: November 11, 2009

e M=
/



UM CW SYSTEM

SMALL MISSILE e STRUCTURAL GLAZED & UNITIZED

INDEX OF DRAWINGS

SHEET NO.

1
2
3&4
5&6

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fax (305) 5991342

REVISIONS

I T[S

DESCRIPTION

COVER SHEET

GENERAL NOTES

ALUMINUM EXTRUSION INFORMATION

GENERAL (GASKET & FASTENERS) INFORMATION

WALL SECTIONS

SCHEMATIC BLDG SECTION & SPECIAL SECTIONS

DESIGN PRESSURE RATING / MAXIMUM FRAME SIZE TABLE ,
DESIGN PRESSURE RATING / MAXIMUM GLAZING SIZES TESTED TABLE
HORIZONTAL STACK JOINT DETAILS

STACK JOINT ANALYSIS

INTERMEDIATE HORIZONTAL DETAILS

TYPICAL 3" VERTICAL MULLION DETAILS

TYPICAL 3 1/2" VERTICAL MULLION DETAILS

TYPICAL 90° OUTSIDE CORNER MULLION DETAILS

TYPICAL 90° INSIDE CORNER DETAILS

TYPICAL ANCHOR SECTION ON CONCRETE DETAIL

TYPICAL ANCHOR SECTION ON STEEL DETAIL

TYPICAL ANCHOR PLAN DETAIL @ 3" MULLION

TYPICAL ANCHOR PLAN DETAIL @ 3 1/2" MULLION

TYPICAL ANCHOR PLAN DETAIL @ 90° O.S. CORNER

SPECIAL "BRIDGE" ANCHOR SECTION DETAIL @ 90° O.S. CORNER FRAME
TYPICAL ANCHOR PLAN DETAIL @ 90° I.S. CORNER

TYPICAL MULLION WINDLOAD BRACING DETAIL

PLAN DETAIL @ SPECIAL VERTICAL PROTRUDED FEATURE

SECTION DETAILS @ SPECIAL VERTICAL PROTRUDED FEATURE

PLAN ANCHOR DETAILS @ SPECIAL VERTICAL PROTRUDED FEATURE
SPECIAL INTERMEDIATE HORIZONTAL DETAIL WITH SUN SHADE FEATURE
MULLION JAMB DETAIL

TYPICAL STARTER SILL DETAIL

CW STARTER DETAIL WITH SUB-SILL
CW TYPICAL COPING DETAIL
DETAIL @ TOP ANCHOR TO UNDERSIDE OF SLAB

i 06-26-09 CHANGE COMPANY NAME AG

RV# DATE NOTES 8Y

PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

a'7/oz/0‘?

DRAWING NO.: PA-UM-SM-07-350

DATE: 05/20/2005 [SHEET: 01 OF 34




UM CW SYSTEM

SMALL MISSILE e STRUCTURAL GLAZED & UNITIZED

GENERAL NOTES

DESIGN PARAMETERS

COMPLIANCE OF THE FOLLOWING REQUIREMENTS:

FLORIDA BUILDING CODE (HVHZ)

TAS-201 - LARGE & SMALL MISSILE IMPACT

TAS-202 - AIR LEAKAGE, WATER PENETRATION & STRUCTURAL PERFORMANCE
TAS-203 — CYCLING

ASTM STANDARDS

E283 — AIR INFILTRATION

E330 - STRUCTURAL PERFORMANCE

E331 - WATER PENETRATION

E1886 LEVEL “D” — IMPACT BY “MISSILE” AND CYCLIC PRESSURES
E1996 — IMPACT BY WINDBORNE DEBRIS

SYSTEM DIMENSIONS

OVERALL DEPTH = 7" (TO F.O. GLASS) & 8” TO F.O. METAL CAP
3" WIDE MULLION

3 ¥2" WIDE MULLION

GLASS
SEE SHEET NO. 10

FINISHES

EXPOSED AREA: ON A PER JOB BASIS

NON EXPOSED AREA: MILL FINISH, EXCEPT FOR:

STRUCTRURAL SILICONE SUBSTRATE: ALODINE CONVERSION COATING
ALUMINUM IN CONTACT WITH DISSIMILAR MATERIALS SHALL BE PROTECTED PER
FLORIDA BUILDING CODE, SECTION 2003.8.4

ALUMINUM ALLOY
EXTRUSIONS: 6063-T5, 6063-T6, 6105-T5 (OR 6005-T5 OR 6061-T6), SEE SHT.3 & 4
ALUMINUM PANEL: 3003 H14

STEEL
ALL STEEL REINFORCEMENT, STRUCTURAL SHAPES, PLATES, ECT. SHALL BE PER
ASTM-36, UNO. PRIME PAINTED (HOT DIP GALVANIZED PER JOB SPECS.)

WELDING
CURRENT ASTM STANDARDS E70-XX ELECTRODES, UNO.

FASTENERS

FASTENERS TO BE CORROSION RESISTANT AS DETAILED AND TO CONFORM TO
FLORIDA BLDG. CODE, SEE LIST ON SHEET NO.5 & 6.

ALL FASTENERS BEING USED IN A STRUCTURAL APPLICATION SHALL BE
DETERMINED / VERIFIED BY STRUCTURAL CALCULATIONS.

SEALANTS

STRUCTURAL SILICONE ~ DOW CORNING 983 (TWO PART); RE-GLAZING — DC 995
FRAME ASSEMBLY SEALS — DOW CORNING 795

EXPOSED WHEATHER SEALS ~ DOW CORNING 795

SILICONE COLOR IS ON A PER JOB BASIS.

GASKETS AND WEATHER STRIP
SILICONE RUBBER, NEOPRENE, OR EPDM
SEE DESCRIPTIONS ON SHEET NO.5
COLOR IS ON A PER JOB BASIS.

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

3

D
)
7
)
b
b,
b
P
1

062609 CHANGE COMPANY NAME AG

RV#¥ DATE NOTES BY

PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

FREDUCT REVISED
=5 cemplying whb e Fokds
Bhagy Codg

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E #: 55248

Q7/b//07 '

ERAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 02 OF 34




ALUMINUM EXTRUSION INFORMATION

T‘OQZTLSG_T 33y 11 0.467 +—r10750 5200
1.810 5.440 gy r »3501—']‘&430
T 2.908 3.000 r 1.815
W 3.874 J 1.499 j
oo STEELISA
| e U203 UM 204 UMS0 NORTH AMERICA
PRESSURE PLATE ALUM.COVER TYF. TOP ADAPTOR AT ST.JT.. ADJUSTABLE OUTRIGGER
ALLOY:6063-T6 : ALLOY:6 | 05-T5
ALLOY:6063-T6 ALLOY:6063-T6
TYP WALL THKS:.1 25 TYP WALL THKS:.062 TYP WALL THKS:.080 TYP WALL THKS: .556
UMOO | — - 7933 NW, 71st Street; Miami, FL 33166
1.380 0.430
M TRaNOM UMIO] UM | 02 r ‘[—T s Phone (305) 5921212 Fax (305) 599-1342
ALLOY:6063-T6 3" MALE MULL TYP 3% FEMALE MULL TYP, E;m_‘[ UMS02
TYP WALL THKS:. | 25 ALLOY:6063-T6 ALLOY:6063-T6 2.497
TYP WALL THKS:. 1 25 TYP WALL THKS:. 1 25 2282 z.908 Besz 492 LOCK BLOCK
ALLOY:G [ 05-T5
1.062 -1.313~ ~1.3134 oseal | TYP WALL THKS:. | 64
2.480 2.865 T ) 1.697
UM207 UM208 UmM210 UM2 | 4
VERT.REVEAL TYP.., PRESSURE PLATE AT ST.JT, VERT.PRESSURE PL ADAPTOR TOP ADAFTOR AT ST.JT.. REVISIONS
ALLOY:6063-T6 ALLOY:6063-T6 ALLOY:6063-T6 ALLOY:6063-Te
3.674 TYP WALL THKS:.062 TYP WALL THKS:. 1 25 TYP WALL THKS:. ¢ 25 TYP WALL THKS:.080 UM503 2
2.250 3405 FRAME HOOK SLIDER 3
r 6.060 6.060 0.969 ALLOY:G105-T5 g
T_ / TYP WALL THKS: .394 >
1514 1.023 .
1.774 3
[ 5.440 UMZ 6"8% J UMZ ’ 7 l_ = "J :
UMOO2 _— O VY 0.623 z
TOP TRANSOM UMio3 UM 4 ! . VERT.PRESSURE PLATE ADAPTOR > VERT.COVER @ UM201 ﬂtﬂi%r\'a YPAT STUT - P
3' MALE MULL@ | 0" VERT.FEATURE iLL';Ey :ELJEG: :ZL@ 10" VERT.FEATURE @30 05 CORNER \'/ 175 90 05 CORNER INTERM.HORZ. o . UM504 D[ oszsos CHANGE COMPANY NAME A5
ALLOY:6063-T6 ALLOY:6063-T6 ) . ALLOY:6063-T6 ALLOY:6063-T6 .
TYP WALL THKS:.{ 25 TYP WALL THKS:. | 25 TYP WAL THKS:. 125 #Poxiﬁi‘:"g 125 #O;ifif‘;g; oe2 TYP WALL THKS: .094 TYP WALL THKS:.062 FRAME 1OOK Ve DATE noTes d
ALLOY:6 10575 D H
— —z 'SS_T 10784 0.784 TYP WALL THKS: .630 PRODUCT
og; — E}i 1,000 1.370 . e
I——a.ssa—I 2506 12| 0540 b Q460 1,697
+1.0 t L—_‘
7 1063k 1) oeak 1068 0.534
| 7.676 3.495 M4 10 %
UM401 UM402 U UM403 oeos SMALL MISSILE
GLAZING ADAPTOR AT GLAZING ADAFTOR AT GLAZING ADAFTOR AT PNL AREA ING © 3.409
] [N VISION GALSS SPANDREL GLASS ALLOY:6063-T6 FTL BCRLING cur FRAME HOOK SLIDER P REGLAZ ED & UNITIZED
N : TYP WALL THKS: .080 ALLOY:6063-Te FO 05 CORNER
L os— ] 3.435 ALLOY:6063-T6 %;Oxﬁ_fﬁ'g 080 TYP WALL THKS:.050
TYP WALL THKS:.062 " ALLOY:6105-T5
UMOO3 L 502} TYF WALL THKS: .394
HORIZ. SPLICE |28 1.036 2.452
UM 105 UM 106 || oo 1 —roaes ! 1 DADE COUNTY STAMP:
ALLOY:6063-T6 FEMALE S0°CORNER MULL 1218 [ ’ 1
TYP WALL THKS:.31 2 MALE S0°CORNER MULL : — 1273 1370 L,Na,\ N
ALLOY:6063-T6 ALLOY:6063-T6 U U 0.675 R V PRODUCT BEVISED
TYP WALL THKS:. | 25 TYP WALL THKS:. 1 25 — i il 3.203
2875—— 1 563 1303
1810 5.420 r———r 1 UM405 UM4 | | UM406 UM506
. . CORNER CHNNL RECEWER
| INTERIOR VERTICAL COVER VERTICAL LADAPTOR AT PNL AREA ANTI BUCKLING CLIP @ CORNERS ALLOY:G 105-T5
coca- ALLOY:6063-T6 ALLOY:6063-T6 TYP WALL THKS: 375
%;O;ﬁfﬁg; 125 TYP WALL THKS:.080 TYP WALL THKS:.050
3.732 T—i 697 —J
1672
3.625 5.440 < 440 I— | T).OSQ o534
0.470 o
I_ 1.564 1000 LQJ ﬁ_] b szso— ]
I.i24
Lois o [ 1.as2 UM507 ENGINEER STAMP:
- FRAME HOOK. INTERM. SLIDER
UMOO4 — | UM408& UM409 ALLOY:6 10575 CONRADO S. CASEM, P.E.
INTERM TRANSOM UM 107 UM407 GLAZING ADAFTOR AT 3 GLAZING ADAFTOR AT 3 1/2" UM4 | 2 Y7 L TS 7 FLORIDA P.E #' 55248
ALLOY:COG3-TE UM |08 CORNER REINFORCING CLIP MULL SPANDREL ¢ MULL VISION 2.781 e
TYP WALL THKS:. 1 25 33" MALE MULL HEAVY DUTY 5 ALLOY:6063-T¢
ALLOY:6063-TG 3§ FEMALE MULL HEAVY DUTY ALLOY:6063-T6 TYP WAL THKS:.080 ALLOY:6063.T6 ALLOY:6063-T6 _
TYP WALL THKS-. | 25 ALLOY:6063-T6 TYP WALL THKS:. | 87 " TYP WALL THKS:.062 TYF WALL THRS:.282
TYP WALL THKS:.1 25
" 1.500
1810 5.420 B 1.125
1 r r
—
0612
[ 4 ;
| |  (Devesadiadie
3.000 1.750 !
5.188 lb.780 )
2.375 3.626 97/0[/0?
L 3.626
UMOO5 UM205 UMS | | UM509 UMS |2 UMS08
INTERM TRANSOM ALUM.HORZ.FIN TOP KICKER ANCHOR BLOCK. KICKER ANCHOR BLOCK.
ALOY:G0E3-TE L 2,000 KICKER ANCHOR, . CORNER ANCHOR CHANNEL
ALLOY:6063-T6 TYP WALL THKS:, 1 40 RECEPTOR ALLOY:G 1 05-T5 ALLOY:6 1 05-T
TYF WALL THKS:. 125 ;ljcl\ngkiﬂlfxcgaw ALOYIE 105,75 TYP WALL THKS:.375 TYP WAL THKS:.250 ALLOY:6105-T5
ALLOY:G 105-T5 TYP WALL THKS:.250 J TYP WAL THKS: 375 IDRAWING NO.: PA-UM-SM-07-350
TYP WALL THKS:. 167
IDATE: 05/20/2005 |SHEET: 03 OF 34




ALUMINUM EXTRUSION INFORMATION

9.375

2.498

UM206

ALUM.HORZ.FIN BTTM

ALLOY:6063-T6
TYP WALL THKS: 140

3.365

4.688

—/—/—/— —/ 3 |
b—o2sea—

UM213

TEE BRACKET WITH COVER

ALLOY:€063-T6
TYP WALL THKS:. 1 88

I 1.153

7.650

UM209

TEE BRACKET
ALLOY:6063-T6

TYP WALL THKS: .| 88

8.250

T

7.187

UMz 1 |

VERT. FEATURE ADAFTOR

ALLOY:6063-T6
TYP WALL THKS: . i 25

3.437

0.750-LJ

UM212
VERTICAL FEATURE SPLICE PLATE

ALLOY:6063-TC
TYP WALL THKS:. 1 25

] 5.469 ]
|.5];o [
L—J! 4375 } J
UM302

INTERIOR TRIM AT CORE WALL ST.4T,

ALLOY:6063-T6
TYF WALL THKS: .080

|.082

0,188

UM404

HORZ. FEATURE
ANCHOR BLOCK

ALLOY:6063-T6
TYP WALL THKS:.313

14 3 B

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fox (305) 599-1342

i\ 5

—

4.688

b1.3753
UM215

TEE BRACKET AT 90.0.5. CORNER

ALLOY:6063-T6
TYP WALL THKS:. | 88

4.033

Fu U
5.367

2.875

UMOOG6

5SuUBSILL
ALLOY:6063-T6

TYP WALL THKS: .125

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

FRGDUCT REVIEED
s compiviog with the Floride

Cade

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/0//07

[PRAWING NO.: PA-UM-SM-07-350

FATE: 05/20/2005 |SHEET: 04 OF 34




GENERAL INFORMATION

MARK

DESCRIFTION

PICTURE
N.T.S.

MARK
#

DESCRIFTION

PICTURE
N.T.S.

MARK

DESCRIFTION

PICTURE
N.T.5.

MARK

DESCRIFTION

EXTRUDED NEOPRENE AIR SEAL GASKET 70 +/-5 DUROMETER
FER ASTM C-864 - BLACK
UMNNO t

.

COMPRESSED

3/8"x ! /8" EXTRUDED SiLICONE SETTING BLOCK
85 %5 DUROMETER SHORE "A* COLOR: BLACK

==

#10 x 1/2" LONG P.P.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

H16%.281* 1.D. x .625" O.D. NYLATRON WASHERS

EXTRUDED RIGID PVC SPACER
PER ASTM D-1784- BLACK
UMNVO2

£

3/8"xi/2" EXTRUDED SiUCONE SETTING BLOCK
85 x5 DUROMETER SHORE "A"
COLOR: BLACK

X

#10 x 3/4° LONG P.P.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL | 8-8

174"@-20 NUT 5.5 (304)

DENSE SHICONE RUBBER.
60 £5 DUROMETER SHORE "A" - GRAY

UMNSO3

#10 x 2/4" LONG P.F.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL 18-8

114"@ LOCK WASHER 5.5 (304)

©|l® | 0|06

SILICONE SPACER GASKET
80 %5 DUROMETER SHORE "A" - GRAY

UMNSQ4

®

SILICONE RUBBER RAINSCREEN GASKET
50 £5 DUROMETER SHORE "A* - GRAY

UMNSO5

COMPRESSED

\

1/2" @ FOAM BACKER ROD
UMNFOOS

)

#12 x 1/2" LONG P.P.H SHEET METAL SCREW TYFE AD
STAINLESS STEEL | 8-8

@ @ ©| @

1149 FLAT WASHER 5.5 (304)

|| ® |06

STAINLESS STEEL ALIGNMENT PIN-TYFE 304 5.5
GF-974

#12 x 1" LONG P.P.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL | 8-8

SILICONE RUBBER GASKET
60 %5 DUROMETER SHORE "A" - GRAY

UMNSOG

®

ELASTOLEN W300 FOAM BLOCKING - 1/2" THICK
UMAFQO I A

#14 x 13/4" LONG P.P.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL | 8-8

H/2'@-13 NUT 5.5 {304}

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

® | ®| 0|0 |® |0 | @

#12-24 x 3/4" PPH SMS TYPE ‘D' STAINLESS STEEL 18-8

SILICONE RUBBER RAINSCREEN GASKET
80 %5 DUROMETER SHORE *A" - GRAY

UMNSQ7

®{0|®

EPDM SPACER GASKET 60 +5 DUROMETER SHORE "A* PER
ASTM C-684 - BLACK (PROJECT ONLY)

UMNEOS

g
]
On

COMPRESSED

ELASTOLEN W300 FOAM BLOCKING - 1/2* THICK
UMAFOO 1B

®

174"-20 x 1" 5/5 HH MACHINE BOLT 5.5. WITH NYLOC PATCH,

X EXRE)

NYLOC PATCH

172'@ LOCK WASHER 5.5 (304)

REVISIONS

®

2 /2" 1. RIGID PVC SEPARATOR. - BLACK
PROJECT ONLY
PER ASTM D-1784

UMNVO9

ELASTOLEN W300 FOAM BLOCKING - 1/2* THICK,
UMAFO02

®

ELASTOLEN W300 FOAM BLOCKING - 1/2" THICK
UMAFOO4

1/4-20 x | 1/2* $.5. HEX CAP BOLT 5.5. WITH NYLOC PATCH

a2,

Wtk

NYLOC PATCH

1/2'@ FLAT WASHER 5.5 (304)

o)

3/8'@-16 NUT 3.5 (304)

NORTON V-790 DOUBLE SIDE ADHESIVE TAPE

LS

1/4-20 x 1" 5.5. FH MACHINE BOLT 5.5. WITH NYLOC PATCH

%‘u r r r%‘"

NYLOC PATCH

3/8'© LOCK WASHER 5.5 (304}

7 06-26-08 CHANGE COMPANY NAME AG

RV# DATE NOTES av

NORTON V-790 ONE SIDE ADHESIVE TAPE
¥xg

NORTON V-2 100 ONE SIDE ADHESIVE TAPE

Xy

1j2-13 x 1 1/2" LONG HEX HEAD BOLT 5.5. WITH

(CIRVIRE

3/8'@ FLAT WASHER 5.5 (304)

NORTON V-790 ONE SIDE ADHESIVE TAPE
Xy

@xmggg BIRE

@l | ®|0|6

®I ®| 0| 6|6

SILICONE SPONGE TAPE (CLOSED CELL W/ PSA ONE()) SIDE

D37 X XK
PoX X X X X X

3/8-16 x 11/2" LONG HEX HEAD BOLT 5.5. WiTH

@+ &

5/8"@-11 NUT 5.5 (304)

HIGH MODULUS, TWO-FART SILICONE SEALANT
(STANDARD GRAY) DOW CORNING #9683

vz

MEDIUM MODULUS, ONE-FART SILICONE SEALANT
(STANDARD GRAY} DOW CORNING #795

@

ELASTOLEN W300 FOAM BLOCKING - 1° THICK
UMAFOO5

1/2- 13 x 2" LONG HEX HEAD BOLT 5.5.WiTH

CIRZIRE

5/8'@ LOCK WASHER 5.5 (304)

PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

1/4-20 x 112" HEX SOCKET CAP SCREW
STAINLESS STEEL i8-8

#8x2 1/2" LG, DRYWALL SCREW

1 174" GALV. STEEL CUP HEAD WASHER

@ @ |0 |® |6

12 GA, STEEL WELD PIN-4 172" LONG

3" ALUM FOIL TAPE

5/8-11 x 3" LG HEX HEAD BOLT _ SAE GRADE S
PROJECT ONLY

1/4* x 2 LG 1.H.TAPCON SCREW

I* WIDTH
1,23 e D 63 | 76 o Foam BACKER ROD
UMAFO35
s [0
12,3 DC TAP! 3" WIDTH @ 1/2- 13X 3/4" FLAT POINT HEX SOCKET CAF SCREW
I 4 @ FOAM BACKER ROD
UMAFO36 STAINLESS STEEL 16-8
1,2,3 DC TAPE . 1% @ BACKER ROD
5" wibT © UMAFO37
P S5/8-11 x 2 12" HH BOLT 5.5 WITH —_—————— e W
PROJECT ONLY @
€ | 1.2.30cTArE & wiDTH &) 32 pecsm oD
|

BUTYL SEALANT

§
S N o|olo|o

5/6-11 x 2 1/8* LG. COUPLING NUT _ 5AE GRADE 2
PROJECT ONLY

1/4°-20 X | 1/2" LG ELCO DRILFLEX ANCHOR SCREW

#14 x 1" LONG P.P.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 1 8-8

5/8-11 x@c;‘ FH BOLT 5.5, WITH

.8

#14 x 1" LONG F.F.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

1/4-20 x 3/4" HEX KEY SCREW WITH NYLOC PATCH
STAINLESS STEEL 18-8

1/4-20 x 1" 5.5. FH MACHINE BOLT S.5. OUT NYLOC PATCH

178" CLOSED-END ALUM FOP RIVET 12" LG GRIP

#10 x 1" LONG P.P.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL 18-8

#8 x 3/4” LONG P.P.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

DADE COUNTY STAMP:
BLHUCT REVISED
with the Floride

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

o7folfo0q

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 [SHEET: 05 OF 34




GENERAL INFORMATION

MARK
¥

DESCRIPTION

PICTURE MARK PICTURE
NT.S. ¥ PESCRIPTION NTS.

1/2- 13 x 3 1/2" LONG HEX HEAD BOLT 5.5.WiTH

GO+ @

5/6%-1 1 X3 LONG HH BOLT S/5 g:]

#1214 X$ LG HWH #3 DRILL FLEX am

F0AX | 1/2°16. FH M.5. WITH

B+ e

7% X | ¥1G H.H TAPCON SCREW -QW

5/8% 1 1 X2" LONG HH BOLT /5 Q:

#12 x 3/4" LONG P.F.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

3/6%-16 X2" LONG HH BOLT /5 g:]

M EX50 (5/8'X2*) HALFEN TEE BOLT. HD GALV, GRADE 4.6
HALFEN P/N BH4512 (WITH H NUT)

® 10 ®|0|®|®

#10X 441G PH PH #2 TEK POINT WITH GRAY XYLAN ‘@W

COATING SCREW

5/6"@ FLAT WASHER 5.5. (304)

#12 X 7'LG PH PH #2 TEK POINT WiTH GRAY XYLAN
COATING SCREW

R

®

3/8" X2" LONG HHMS

®

#12 x 2" LONG P.F.H SHEET METAL SCREW TYFE AB
STAINLESS STEEL +8-6

®

1/4°-20 X1* LONG HWH TYFE 'F* /S 18-8

®

# 14X 1" LG. ELCO DRILL FLEX

®

# 14X 1 1/2" LG. ELCO DRILL FLEX

#10x | 1/4"LONG P.F.H, TYFE F
STAINLESS STEEL i8-8

@@

HILTI HAS-E Rods 5/8" x 8" WITH FAW - P/N 00333194

HILT! HVU ADHESIVE CAPSULE - PN 00256694

®@| @

3/8°-16 X} 1/2" LONG HWH TYPE "F" 5/S SCREW

5/8 - 13 x 1 1/2" LONG HEX HEAD BOLT 5.5.

1/8 THK POP RIVET W 3/16- 1 4 GRIP RANGE

# 10 X 5 LG DRYWALL SCREW

#10X 1 1/2" LG P.P.H SHEET METAL SCREW TYPEAB S/S 18-8

HILTIKWIK BOLT 11 5/8 X 4 1/2 8S

®

POWER FASTENER WEDGE BOLT 1/2'0 X 5" LG

HILTI KWIK BOLT 11 3/8 X5 SS

HILT! HAS-SUPER Rods 5/8" x 7 5/8" WITH FAW - PIN
00333783

HILTI ANCHOR ADHESIVE HIT HY 150 - F/N 0037 1957

1/2"-13 X4 1/2" LONG HH BOLT 5/5

@010 |06

1/2-13 X3 1/2" LONG HH BOLT /5

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

2N

oo

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 06 OF 34




HM

HM

HM

STACK.
JT. .,~j:/
VM " SPANDREL ..

A

I LAMIN. GLASS © ~

SN

DN

HM

HM , HM

ALTERNATE

7z
ALUM. Vi
PANELS \ VM / /
7 VISION L2 wour re 20 //
S| NsuLs amiN. WIS 7
Cse T GLASS
L 17 s | MO
/ }/';a\} 41’//, I / 2 N :/ | N
ALTERNATE e s 7
STACK]— i ié’ff . o
JT, N
\ // . :[ | 6/;‘
15 | ALTERNATE
e 0 R . AT -
W ! I e | ANCHOR
ANCHOR ' J o . .
aad 34 90° 0.5. MULL 90° 1.5, MULL
U N
54 S sim
| + 30 /W/O CAP
.20/ 2l ; o € MuLL i

s 30 | W/ CAP

N
7" MULLION
© W/O CAP
, 30 _/(ALTERNATE)

£ MODULE

s l \\‘
2z’

HM

3" MULL /%

W/ CAP

LEGENDS

- DL ANCHOR= DEADLOAD ANCHOR

- HM= HORIZONTAL MODULE

- GH= GLASS HEIGHT DIMENSION

- GW= GLASS WIDTH DIMENSION

- V CANT. = VERTICAL CANTILEVER DIM.

- VM= VERTICAL MODULE

-V SPAN= VERTICAL SPAN BETWEEN ANCHOR
- S HEIGHT= VERTICAL DISTANCE OF STACK
JOINT ABOVE ANCHOR

V SPAN

L 18  ANCHOR

DL

SN oL
« - ANCHOR TO
19 steRL

NOTES:

I-FOR MAX. ALLOWED "HM",AND "VSPAN" SEE "DESIGN PRESSURE RATING/MAX.

FRAME SIZES" TABLE ON SHEET 09 OF 34

2- FOR MAX. ALLOWED "GW" AND "GH" SEE "DESIGN PRESSURE RATING/MAX.
GLAZING SIZES TESTED" TABLE ON SHEET 10 OF 34

3- FOR STACK JOINT "S HEIGHT" LIMITATION RANGE SEE "DESIGN PRESSURE
RATING/MAX. FRAME SIZES" TABLE ON SHEET 09 OF 34

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 509-1342

REVISIONS

VIVIVIVIVIVIVIVIVV

082609 GHANGE COMPANY NAME AG

NOTES :14

2
=
2
El

2
(@]
(=]
c
(2]
3

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/0///0‘?

|[PRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 07 OF 34




I R e, P a N 4 .
a. 5 '3\/’,, .4 i < ) a- ¢ 4 i
VAV ARVANVAN SeS—
) EmE \
VANGN N | PERMASTEELISA
LN s N ] ———}__ \ NORTH AMERICA
| ‘a
é_ E 7933 N.W, 71st Street; Miomi, FL 33166
I ; Phone (305) 592-1212  Fox (305) 599-1342
I
r—=T——" ~ _ 4 REVISIONS
| | N .!d=-l < 5
| | | L D
| ] I <
| ] i | n -
S e 7 |
| |
I I 2
. l 1 06-26-09 CHANGE COMPANY NAME AG
I ‘ Rva|  DATE NOTES BY
| | : , : : PRODUCT:
|
rveicALFLOOR | ' (A \scnon @ comne UM CW SYSTEM
I | o) m SECTION @ WL ANCHOR
| | U \gfy TO UNDER SIDE OF SLAB
| _ | SMALL MISSILE
| | PREGLAZED & UNITIZED
| e ‘ NOTE: E EE
| e "VCANT'= VERTICAL CANTILEVER DIM. g
| | FOR MAX. ALLOW "VCANT." SEE "DESIGN 'H
I A O | PRESSURE RATING/ MAX FRAME SIZE * E E’E DADE COUNTY STAMP:
TABLE ON SHEET 09 OF 34 FRBIUCT BEVE
HHE
I | HHEE 4.07
| AT A s
P eSS
11— | I EH £
| . B~
] o 1 IR HHEE
; ’ I | y IHEHE
. e, . 1 , S/ || | \\\ // HFLE{ E_ E ENGINEER STAMP:
/ I I \ { 3 HE CONRADO S. CASEM, P.E.
I | | B HE FLORIDA P.E.#: 55248
I I 4 -l E
j | \ I HH g
| ' HFE
STARTER ! g 5 A gy
| ! A - I“
i i | = |
| | \ : . j R o ] - ( ﬁ % Jpdihay
' l \\\ ! “ a /// f q
\\ a i - T // J 0 0
: —— Vi S o7/o1f0
Lo | /
78 \eoreron o STARTER SUBSILL /D "\ SECTION @ 'KICKER BRACE' WL ANCHOR

06
v |prawiNG N PA-UM-SM-08-350

SCHEMATIC BUILDING SECTION T
[DATE: 0512012005 [SHEET : 08 OF 34




DESIGN PRESSURE RATING / MAXIMUM FRAME SIZES (SMALL IMPACT MISSILE)

WIND LOAD
OPTION T e, — o,
UP TO +85 PSF/405 PSF} @ UP TO +85 PSF/é 10 P5F> @
e’ \'\/\/\/

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 5991342

UMIO! UM207 UM402 "HM" MAX. TRIBUTARY WIDTH 3 -4
UMI02 UM207 UM402 REVISIONS
3" MULLION W/O "/ SPAN" MAX. CLEAR SPAN 13- 2" .
REINFORCEMENT 'S HEIGHT" STACK JOINT RANGE FROM ] ) >
(REF. DTL 1/14) NCHOR 18" - 50 >
Ix = 13.23 IN4 >
Sx = 5.16 IN3 "/ CANT" CANTILEVER DIM. RANGE 47" - 63" S
/N\V\ i
i i I 1 [>| osese B oty Bl oo A6
UM107 UM207 HM" MAX. TRIBUTARY WIDTH @< 3.7 )> i
UMI08 UM207 N PRODUCT:
3 172" MULLION W/O "/ SPAN" MAX. CLEAR SPAN 13- o
REINFORCEMENT 'S HEIGHT" STACK. JOINT RANGE FROM UM CW SYSTEM
(REF. DTL 2/15) ANCHOR 20" - 44" SMALL MISSILE
x = 14.86 IN4 PREGLAZED & UNITIZED
=x = 5.70 IN3 "/ CANT" CANTILEVER DIM. RANGE 47" - 65"
"HM" MAX. TRIBUTARY WIDTH 3-3% DADE COUNTY STAMP:
UMI107 UM207 '
UM 08 UM207 ) ; L o
V SPAN" MAX. CLE 13- 2
3 1/2" MULLION W/O REINFORCE AR SPAN
(REF. DTL 2/15) 'S HEIGHT" STACK JOINT RANGE FROM o 50"
X = 14.86 IN4 ANCHOR ]
Sx = 5.70 IN3
"/ CANT" CANTILEVER DIM. RANGE 49" - 5"

UMITO5 UM407 UMZI16
UMI0&6 UM407 UM2I6
90 deg OUT CORNER

"HM" MAX. TRIBUTARY WIDTH

4'-1 3/8"X 3-3 /2"

(REF. DTL 1/16) "V SPAN" MAX. CLEAR SPAN 13- 2"
Ix=19.19IN4 Iy = 20.05 IN4 'S HEIGHT" STACK JOINT RANGE FROM GOVERNED BY STRAIGHT MULLION
S5x = 6.61 IN3 Sy = 6.58 IN3 ANCHOR ABOVE

W

"HM" REPRESENTS TRIBUTARY WIDTH OF C/L TO C/L MULLION SPACING.
WHEN STEEL REINFORCEMENT 1S USED, REINFORCEMENT IS LOCATED @ 4" ABOVE STACK JOINT & SHALL BE VERIFIED BY STRUCTURAL CALCULATION.

. CLEAR SPAN (SPAN BETWEEN SUPPORTS) COMPLIES W/ /180 OR " ALLOWABLE DEFLECTTION NORMAL TO WALL PLANE.

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

( Boueidedtetea,

97/0//0‘7

|[PRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 09 OF 34




DESIGN PRESSURE RATING / MAXIMUM GLAZING SIZES TESTED

"VISION GLASS" "SPANDREL GLASS" “ALLIVINUM PANEL"
PTION 1 516" INSULATING LAVINATED GLASS 9/16" LAVINATED GLASS 316" ALUM PANEL
IIMI Iml 'ml lml Iml Iml
WINDLOAD MAX WDTH MAX HEGHT SQFT. AREA MAX WDTH MAX HEGHT SQ FT. AREA MAX WDTH MAX HEGHT
190 ALUMINUM PANEL.

SMALL IMPACT MISSILE

1/4" HS/ 1/2" AS / 1/4"HS - .060 DUPONT BUTACITE PVB

INNERLAYER -1/4'HS

1/4"HS - .060 SAFLEXIIG PVB INNER LAYER -1/4'HS

ALLOY 300314 (2 SFEC. QA 250/2)

UP TO+85 PSF/ -125PSF

46!

91le

293 QFT.

&' 198 Q FT.

7%1/2
(SENOTEY)

451516"
(SENJIE3)

UP TO+85 PSF/ -125PSF

wl

N 34’

24.8 QFT.

62’ 16.8 Q FT.

GENERAL NOTES:

1. ABREVIATION HS= HEAT STRENGTHENED, AS=AIRSPACE

2 ADDITIONAL GLASS OCLCOR TINT, COATING OR CERAMIC FRIT CAN BE ADDED AS PER ARCHTECT'S SELECTION ON A PER JOB BASIS.

3. GLASS DIMENSIONS, THCKNESS, AND TREATVENT COVIPLIES W ASTM E-1300-02

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS

06-26-09 GHANGE COMPANY NAME

RV# DATE NOTES ar

PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

ool

IDRAWINGNO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 10 OF 34




(@)riGIp PvC THERMAL & 916" LAMINATED —
SEPARATER AND . 5, 7. GLASS HEAT RIGID PVC THERMAL \
SOUND DEADENER ! f— i ft Sie STRENGTHENED SEPARATOR AND £ 1" p=rth
B '[ ] Z:‘ (2) §0) JEMFORARY Sruice] STOP SOUND DEADENER 13 o
EACH SIDE OF SPLICE 22
| 11420 x 172" b1 SDCKET HEAD CAP SILICONE SPACER |
| | (63) SCREW LOGATED &]FROM THE LEFT GASKET (TYPICAD I
END OF THE STACK [JOINT HORIZONTAL SN I R } &
1-¢" INS. LAMINATED GLASS | GUTTER - LOCK. INT® A SLOT IN THE () sTRUCTURAL SILICONE —6
| SILL HORIZONTAL TQ) ALIGN FRAMES AIR SEAL \ } L
ES 30 ET ICA ERa "
SILICONE SETTING 1 — 2 ae i AORET (TICA) @ S/BET!FH\,J/(S BBLTDZKLSGE'T IN
BLOCKS SET IN SILICONE 2 1/2"LG. RIGID PVC SILICONE AT 1/4 FOINTS i
AT 1/4" POINTS | SEPARATOR - (3) PER FRAME H
MODULE LINE MODULE LINE @\
B N ; 3 PERMASTEELISA
S REQD
peves Tl \&0| ] . % Tk €S NORTH AMERICA
Brer. M IS ™ 7|
L 2 14" X 1* PRESSURE J LB
1 1+ PRESSURE N EQUALIZATION 5LOTS
s heAD AT 1/4 POINTS TYFICAL) 7933 NW, 71st Street; Miomi, FL 33166
I ( 3 Phone (305) 5921212 Fax (305) 599-1342
BOTTO BITM. OF MULL. 3z POTTO BTTM. OF MULL.
OF UM207 M (2 OF UM207 L [7
BOTTOM OF VERTICAL 3%“6%5 8 | BOTTOM OF
a | =~
FIN BEYOND RE z|q UM3O0 | (REF.ONLY) e UM301
FIN BEYOND _l
) ‘ o, —UMO03 (10" LG} I E—umo03 (10 16, REVISIONS
7 e HORIZ. SPLICE 7 TR TYP. HORIZ. SPLICE
8 N _ 8 19
| / ...... - '|l L ) =
| TOF OF MULL. TOP OF VERTICAL 4’ =
L SILICONE FIN BEYOND |nIILCONE
eire BITE z
TOP OF VERTICAL S
FIN BEYOND L] 1/4'0 WEEP HOLES
e 2" THICK CW90 AT 1/4 POINTS (TYFICAL) 3
1/4"0 WEEP HOLES MULLION WRAP /
AT 1/4 POINTS (TYFICAL) sror sea. /| (REF ONLY) €3)SHOP SEAL -SILICONE D
©a | AND BACKER ROD S
@/ (D)STRUCTURAL SIICONE yd
2
@/ @/ | 1 06-26-09 CHANGE COMPANY NAME AG
CW INSULATION . |
9/1 6" LAMINATED GLASS A5 REQD /16" LAMINATED | Rue] o - NOTRS i
GLASS bd sl Ld
i I | | ! ! : PRODUCT:
9, [ N L I I [ i |
16 |4
3,
o, /2 "\ STACK JOINT DETAIL 1 | UM CW SYSTEM
Fl

e 16 4 62 v SCALE: FULL 9/1C" LAM. GLASS ¢ 1-5/1 6 IG.LAM. GLASS
L . .
Ly - I 7

SMALL MISSILE
3/16" THK ALUM.PNL= 3 5TACK JO[NT DETA”_
@ o e s PREGLAZED & UNITIZED

Z- ALTERNATE DETAIL
CW INSULATION SPANDREL/SPANDREL
horean @ STACK JOINT
1/4-20 x 1/2" S/5 SOCKET HEAD CAP SCREW DADE COUNTY STAMP:

LOCATED &" FROM THE LEFT END OF THE

STACK JOINT HORIZONTAL GUTTER - .
€ ° LOCK INTO A SLOT IN THE SILL HORIZONTAL PREGDUCT REVISED

TO ALIGN FRAMES a5 eompiying with the Fleride
Batding Cede
B

Sl

ol

RIGID PVC THERMAL

SEPARATOR AND
SOUND DEADENER \ N

MODULE LINE—l

NEOPRENE A:R SEAL LARGE WEEP HOLE IS TO REMAIN OPEN
ASKET (TYPICAL) TO ACHIEVE PRESSURE EQUALIZATION

k>IN
L

174" X 1" PRESSURE

EQUALIZATION SLOTS REF. ONLY)
AT 1/4 POINTS (TYFICAL) 3 = THE RN acAeeN GASKET IN FRONT WILL
REDUCE THE WIND NOISE.
BOTTO! .
OF UM20¥—| BTTM. OF MULL. ENGINEER STAMP:
oromor ___ 3% &L CONRADO S. CASEM, P.E.
VERTICAL
FIN BEYOND FLORIDA P.E.#: 55248
o lrj-lB
©)

—

AI—UMO03 (10 1G.)
EREB B R TYP. HORIZ. SPLICE

S [
!‘" M %"Z@U | : / i / g 2 . /@ NOTE:
(
¢

— e\l

TOF OF VERTICAL _‘ SILICONE Is
FIN BEYOND 1"BITE I% mﬁ ?
”
| /4G WEEP HOLES S /ﬁ
AT 1/4 POINTS (TYPICAL) - ( ' - 1 PV
- — 7 LAW’VM >
@SHOF seaL siuconE_/ | < %o R J J _1’4/__ —— -~

AND BACKER ROD i
!

((9)STRUCTURAL SILICONE / HUHHHTIH N z

NG o7/

/
m STACK. JOINT DETAIL A "\ DETAIL m DETAIL

Fie ALUM'FNL/ L | w SCALE: FULL 3/16° ALUM SHEET @ SCALE: FULL W SCALE: FULL
'DRAWING NO..  PA-UM-SM-07-350

L. N '
IDATE: 05/20/2005 |SHEET: 11 OF 34




MODULE LINE
o
Q
o
S
= _
3
BOTTOM OF VERTICAL E74 gl
FIN BEYOND 2
In ‘
5

UM301i

A T—UMOO3
HORIZ. SFUCE

TOP OF VERTICAL J

FIN BEYOND

MODULE LINE

/1 "\ STACK JOINT @ TYP. FOSITION

D-004 ] SeME: AL

174" X 1" PRESSURE EQUALIZATION
SLOTS AT 1/4 POINTS (TYFICAL)

LiMZO?) i

BOTTOM OF VERTICAL 4l

[

FIN BEYOND —I !

[

UM208

(10" LG.)

iz

o

TOP OF VERTICAL J

FiIN BEYOND

/2 "\ STACK JOINT @ MAX. OPEN POSITION

D-004 / scaE L

S UMOo03 (10" 1G.)

UM30i

HORIZ. SPLICE

]

THESE DETAILS ARE
ONLY TO ILLUSTRATE
STACK JOINT ANALYSIS
(NOT SHOWN ON ELEV)

STACK JOINT ANALYSIS

THERMAL : 30° F TO + 180° F
USE +75° F

NOMINAL TYPICAL FLOOR TO FLOOR 13'-6"
162" X 75° F X .0000128 = .i156" THERMAL

PRODUCTION & ERECTION TOLERANCES /16" + 1/16" =
LIVELOAD: 3/8"

COLUMN SHORTENING: 1/8"

TOTAL: 0.156" + 0.125" + .375" + .125" = .78]"

USE # 13/16" TOTAL STACK JOINT MOVEMENT

/8"

BOTTOM OF VERTICAL

=)

FIN BEYOND
1
[ e |LUA
¥

TOP OF VERTICAL /‘

FIN BEYOND

/3 "\ STACK JOINT @ MAX. CLOSE POSITION

D-004 ] SCAE FulL

o

UM301

L) e

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM
SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRBDUCT BEVIsED
% eOmaptying with the Floride

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

orforfe?

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |[SHEET: 12 OF 34




/16" LAMINATED

LAMINATED GLASS

VERTICAL COVER
(WHERE REQ'D)

(@) siicone spacer
GASKET (TYPICAL)

©

SETTING BLOCK SET |
SILICONE AT 1/4 POINT:

//

MODULE LlNE—l

CW INSULATION

AS REQD

3.

. : e 4
3 g i
il SILICONE o
2 BITE 32
2a UMAACOZ I
8 1
c LR I g
T k3 l
6de 10°0.6- i
| El
| L i
2 11, SILICONE d
6 BITE i
N .

N

L—y

oW

A
ie

ET UMZ202
SILICONE

I 5/16" INSULATING

LAMINATED GLASS

9/16" LAMINATED

LAMINATED GLASS
VERTICAL COVER
(WHERE REQD)
(®) sliconE sPacer

GASKET (TYPICAL) \

@ SETTING BLOCK SET IN
'SILICONE AT /4 POINT:

N

N
N
f INSULATION MULLION

WRAF AS REQD

—GS)TYF.

/1 "\ INTERMEDIATE HORIZONTAL DETAIL

\\,;3/ SCALE: FULL

9/16" LAM. GLASS - |-5/1 6" INS. LAM. GLASS

CW INSULATION
AS REQD

MODULE LINE: - !
'l % - ‘ 1 ] | | i 1 INSULATION MULLION
R ; e 4‘ I _ | i | | WRAP AS REQD
o ~ ~
&1 e e L S L ey ¢ YTy
[ 7 1 LB E Mk ‘(\ ) _K\ 7 N
8 I oY NIl e |
Jdo SILCONE |12 | [ 85 g
2 BITE > | 8 )
) [ it
I
2y umaroc2 | > ’_' 5 |
s E B
_Q - &2 - 3 - - - - l r - -
10°0.6—] ic & g
| I 3
e g £ B
z 11, SILCONE 2 L T VIZ
S BITE 1 £ IO AR :
| : il S () S 4 (&) 1]
N = — N P X
4 M
5 J‘ 0, UMOO5
iz e
ET UM202 \
SILICONE Gorr

| 5/16" INSULATING

LAMINATED GLASS

/2 "\ INTERMEDIATE HORIZONTAL ALTERNATE

SCALE: FULL
2/

VERTICAL COVER |

(WHERE REQD)
i 5/16" INSULATED

LAMINATED GLASS

VERTICAL COVER

(WHERE REQ'D)

9/16" LAMINATED
GLASS

@ SILICONE SETTING (ZJ@ SILICONE SETTING
BLOCKS SET IN SILICONE BLOCKS SET IN SILICONE
AT 174" POINTS AT 174" FOINTSX
MODULE LINE MODULE LINE
3. “‘—] 3.
e 7 ic 1
s - N
r ] ° T
z o ¥ — Z o [
" 1 |lo - 3 Llv |l ¥
N e e |iQ L 8 e |lo
12 S 15 I
| = { L2
) | ~ 2l l’ -
2% L
5 e s UMAAOO2
L Lu
N ' T 70 € - T
10'0.41 £ 6
E (] — - s}
yie Y Lo &
2 L1, SILICONE 2 2 11, SILICONE P
Ie BITE g [ 6 BITE 1
S o Jd
J K| L [] ] A ; S ] L <}
3NJ‘ T + | Un005 _3_--j T
i e iC e

ET UM202
SILICONE

1 5/1 6" INSULATED

LAMINATED GLASS

/3 "\ INTERVEDIATE HORIZONTAL DETAIL

SCALE: FULL
NEV

3/16" ALUMINUM PNL

1-5/16" LAM. GLASS

(Tg) ST Lm202
iN SILICO%/

971 6" LAMINATED

GLASS

/4 "\ INTERMEDIATE HORIZONTAL DETALL

w SCALE: FULL

VERTICAL COVER
(WHERE REQD)

I 5/16"

LAMINATED GLASS
SILICONE SETTING
BLOCKS SET IN SILICONE

9/161G LAM. GLASS

2"LG 3L0T5@ QUAR
— [AND MILLED OUT | A}

AT 174" FOINTS'A\
MODULE LINE
3 e
3 e ey \’ N _ UMO04_
J [ o 0
Zn O Z
8 [ Y ) Lo [ SY
silgone |[2 1L e 18
| BTg - H i s
=)
I [‘ 2 l‘UMAAOSO“
UMAACO2 —]
1 )L g
J @!0" oC
-~ Q
¥ ) 15 SILICONE s
Liu Ll
ic e BITE = 74
[ | s e
N N H °
3. _[ L i _f l L
ic e ic 1
SET UM202 (9seT umz02 ~
IN SILICONE IN SILICONE

I 5/1 6" INSULATED

LAMINATED GLASS

/5 "\ INTERVEDIATE HORIZONTAL DETAIL

w SCALE: FULL

3/16" ALUM. PN. - 1-5/1 6" INS, LAM. GLASS

3/16" ALUMINUM PNL

o

iz
]

oI —f

Ll

sitleone

BITg

—

UMAAOQ2 —

e N ———y

A=

@lio'oc

- ol

3/16" ALUMINUM PNL

&

3/16" ALUMINUM PNL

/6 "\ INTERMEDIATE HORIZONTAL DETAIL

W SCALE: FULL

1-5/16" INS. LAM. GLASS - 3/16" ALUM. PN.

NOTE: DETAILS 3
THRU 7 ARE
ALTERNATE DETAILS

m INTERMEDIATE HORIZONTAL DETAIL

w SCALE: FULL

3/16" ALUM. PN.

ER POINTS
ENDS

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phane (305) 592-1212  Fox (305) 599-1342

REVISIONS

SMALL MISSILE

7 062608 CHANGE COMPANY NAME AG
RV# DATE NOTES ey
PRODUCT:

UM CW SYSTEM

PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRBDUCT REVISED

a5 compliying with the Plapide
m”é‘%% C@ﬂa

ENGINEER STAMP:

7oy

CONRADO S. CASEM,
FLORIDA P.E.#: 55248

P.E.

IDRAWING NO.:

PA-UM-SM-07-350

IDATE: 05/20/2005 |[SHEET: 13 OF 34




ﬁ/‘f*ty"“‘ﬂr"“"'V““"“V"———V———_jz‘_t_—— __—_—_ﬁ
‘/ \\ N // \\ , /\\ // N // N INSULATION MULLION
/< /\ N \/\ |, wrar As reaD
l:\ NN AN \</
4
LN 3
N N N € 1
I'V A% /- ‘s?.\ N4 \> z
N a \/ N~ - ;, IAS CONT. AL. TAPE TR
s UMSOIA N~ /UMS03 / ©
— AN > e e .
) , === N===H=== \ , J
S S B o
i I [ | | [ | |
=] [i=T - »
R it et | - - [ A Rl S AT Tx——
i i b | ' TR ! ! § \
|
i 1 ! I 1 1 il | 1 i TYP,
e RO e St St G
1l il 1| 1l | i
I | | ! |
| | [ i i ! ! CW INSULATION AIR SEAL
__T____T__._.4___|.|_j___$1_. AS REQD GASKET (TYPICAL
! Il (=
| | ) ! 3
1l 3
| I i i |
RN T SR 5 M e s £
i | T I : @m0 pve TrERMAL—H
I I [ ! SEPARATER AND
J_ il _I 1t : : SOUND DEADENER
RN
8" il
cdeoabo i““é/cg‘éﬂ :
RIGID PVC THERMAL = — —H Al — e 1 1
® SEPARATER AND @TYF j ; ( (15T AND BOTTOM ]> 5!
SOUND DEADENER PLUG SEAL ,
UM402 HORZ. ADAFTOR—‘gf B wes | UM401 HORZ. ADAFTOR—14
-
" LuM402:
S
Jﬂ 'Te
=N
2 |
l‘ / 1 |
o4cY
GLASS
A WA .
REF.
J / UM203 J uUM203
9/16" LAMINATED GLASS ] / 2l _/ UMPAOZZ
(©@3)sror sear ’ E K 1 (9€3sror seac ’ & ALUM.PNL.
Loy v b p b
7 2 P L ,
g ] /173" MULLION DETAIL @ /16" LAMI GLASS @ ; /33" MULLION DETAIL @ 3/16" ALUM PNL.
L2+ siicoNe BITE W SCALE: FULL c J&" SILICONE BITE w SCALE: FULL
€ MULL ¢ MODULE ALTERNATE DETAIL PANEL/ PANEL
I ) i
SR F e
UM 02 UMIOI
MA03 E @ wi6ip Pye TrERMAL—H
SEPARATER AND
] (__ . SOUND DEADENER
C g
.
mweea, —~ (Ve || o I
GASKET (TYPICAL) 1/ /@
. 2
__UMA40 )_HQ&Z_A_DAPTOR—-TAT’ y
wepPvcTERMA—d [V owo T MAQT O ) 7
® SEPARATER AND : g X
SOUND DEADENER 3" MULLION DETAIL ; 3
. 2\ @ ! 516" IG.LAMIN GLASS i
8 E w SCALE: FULL | | I
_____ _E 51 Jzoc./@ Q______ ] C
*_, _ - WA &= | UM202] = \
. _UMI0! 1ORZ. ADATTOR 44 ) -
7 - MAOT [E2== NACT T T T T T T T T T T
° A A K UM203
[
o o
| s p= \ | 516" INSULATED/
5 | S =) LAMINATED GLASS
) T a
4 2 | F2" SILICONE BITE
Y ‘% MULL ¢ MODULE
i
'J L \h | _Jetass \ 3
REF.
UMz03
@SHOF SEAL | J‘
L 3 \ ,
2 | 571" INSULATEDY "
' = ATy e 3 MU|;]_|ON DETAIL
¥ A 4 WITH 3" CAP
12— | 13- siuicone Bite SCALE: FULL

‘f MULL ¢ MODULE

NG

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

[ E8eh PL&CE REVISED
2 with the Florkdy »

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/::7// 09

IDRAWING NOo.. PA-UM-SM-07-350

PATE: 05/20/2005 |SHEET: 14 OF 34




— UM 403-4" 1G.
ANTI BUCKLING CLIP

LOCATED@CENTER SPAN
BETWEEN HORIZONTALS
ﬂ!/e;/:__;y___77_\__—/W:___/T-————/v\_—~7r\———/ \———/ :_.—_h . INSULATION MULLION
[N NN AN NN AN NG AT wRAP AS REQD
/< A A AN PN AN N Y
1NN SN NN NN
P RY % b’ k'S X X
v SN 7 N0 72N 2N s
| N/ N/ N/ N/ N/ N/
I N N /N AN /N /N
O N N2 NN N /N
- == PERMASTEELISA
| 1 i |
B Rt e S R NORTH AMERICA
1 | t i |
I ! | o !
T T T T T T T I T T -k i
1=+ .
b o GRoReT 1 (é 7933 NW, 71st Street; Miomi, FL 33166
| ! ! I A Phone (305) 592-1212  Fax (305) 599-1342
ST
| | i | I :
| { ! [l :
B AN S S s
o :
__JI____¢I_,-4I___J|L_::_—_|; f! . CW INSULATION
| \ AS REQD
: ! : | REVISIONS
-7 1] Y
| i ! D>
| I ! >
. _ i 55 >
{2RIGID PVC THERMAL —  —— ~ >
7 SEPARATER AND i -~ TOP AND BOTTOM
SOUND DEADENER L - L PLUG SEAL >
UM402 HORZ. ADAPTOR. ety | 7" | piies— P >
[>
N >
§ >
4 =i o L 06-26-00 CHANGE COMPANY NAME AG
II RV# DATE NOTES ay
- PRODUCT:

[ UM CW SYSTEM

N r# LAMINATED GLASS

~ 3,
. & &

{i 632855HOP SEAL~" 1ol j L”L L i SMALL MISSILE
- 7 2 P

. L L ! 3-1/2" MULLION DETAIL

e OCONE BITE € MULL # M(’JI[)%LE @ SCALE: FULL 5/16" LAM. GLASS (NO REINF.) PREGLAZED & U NlTIZED

3l

DADE COUNTY STAMP:

PEOGDUCT BEVISSD
a3 eompbring with e Flavkdy
Beidlng Code

—_ o ] - o L - — AE@&««&.&Z&;M% .02
N A,

7 AIR SEAL

, /7y AR SEAL o7
. GASKET (TYPICAL)

“.." GASKET (TYFICAL)

{23RIGID PVC THERMAL
7 SEPARATER AND
SOUND DEADENER

{2 RIGID PVC THERMAL
~7 " SEPARATER AND
SOUND DEADENER

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

4
S =X
T b e el odboice,
! L | b Jeuass " foa L 1 L] Jowss
z I» [ ReF. l J (s | LS : REF. ’
16;23;5HOP SEAL " 3, Y {516 INSULATED S e 3,
| _E’ Iflﬁi ’ U LAMINATED GLASS é’:":i\gjim’” ! lie:23:sH0P SEAL- IE
i Lup Lot PN o 1 bl L oda
F T T .. 7 et /75 "\ 3-1/2 MULLION DETAL
L | Lo L () m 3- ,/2 MULLION DETAIL Lo i I 1u " . -
!, A (SILICONE BITE) 5 %é l’-é — - AT T e U Ges O R ’rc (SILICONE BITE) 3 !E — w SCALE: FULL 3/1G* ALUM. PANEL (NO REINF.) IDRAWlNG NO.: PA-UM-SM-07 350
£ MULL & MODULE ¢ MULL # MODULE

ALTERNATE DETAIL IDATE: 05/20/2005 |SHEET: 15 OF 34




AN
AN
\&“04 %
p \ PERMASTEELISA
NORTH AMERICA
- 7933 N.W, 71st Street; Miami, FL 33166
- ,Uf | Phone (305) 592-1212  Fax (305) 599-1342
ST \ s s
Y
e \ uM2i6 33
2 , - |
|
s e oo — — AN | REVISIONS
UM407 4" LG. (AT SPAN | )LOCATED LO AN \
@MID SPAN(2)QUARTER POINTS 13
AND @ | 0" FROM TOP END,AND AT 3" / \\ |
FROM BTTM END. F—F 02 D
{5 PER FRAME) / / N 3
| 7
(Ssi/gczh MULL. SAME AS SPAN | / /‘ ‘ l UM2i6 \\
BUT NOT UM40Q7 AT 3* FROM BTTM Z / J A | \% WP o
RO // / SL_—T5 X i
“UMelz /T T :
UMZ03 \\ <
9/16" THK, LAMINATED GLASS @ @/®_/ l oo N l 06-25: = CO::AW - -
16" THK, INA Gl RV# DA NOTES BY
T AN PRODUCT:
I 5/16" THK. INSULATED LAMINATED GLASS N "
/2 ™\ 90 0.5. CORNER MULLION DETAIL

w SCAE FUIL 1-5/1C" NS, LAM. GLASS SMALL MISSILE

PREGLAZED & UNITIZED
ﬁ.é 5@ DADE COUNTY STAMP:

PRODUCT REVISRD
@5 gompidug with the Floride

|
g I
) , gl %
——————————————— | e S Bioke
P i)
| 25 I
b5\ ; ENGINEER STAMP:
| CONRADO S. CASEM, P.E.
N FLORIDA P.E.#: 55248
N >
UM203 \\\‘
W.P.
N N
RO 1=
9/16" THK. LAMINATED GLASS \ N n \\ AN "
| — N\~ ) y
27 | \ N [ % AL, SHEET \ {) @!o d|c \\ R C x[éﬂ-—7
8 \ 7. /
27
L 4 N or/er o7
3 | 32 | \
UM-203 HORIZONTAL TRIM =! UM-203 HORIZONTAL TRIM >1 \
@ 90° 0.5. CORNER MULLION DETAIL : /"3 "\ 90 0.5. CORNER MULLION DETAIL
I SCALE: FULL /16" LAM. GLASS w SCALE: FULL 3/16" ALUM. SHEET
ALTERNATE DETAIL DRAWING NO.:  PA-UM-SM-07-350

[DATE: 05/20/2005 |SHEET: 16 OF 34




NI

i MULL.

BACK OF MULL.

1/8 THK. AL. AV
CONT. VERT.

178" THK. ALUM. SHT
W/ALODINE FINISH

178" THK. AL.
I FORMED CLOSURE

\

Al
[Tl 16 1Hix. AL CLOSURE

8" PART UMAAO35-O1

'\H_\_ 63) @ ToP OF HORZ. FL

DI

MY

| UMAAOD3G-0

BN NIBIEE R

i 1 —!——Qz.ﬂ

7
|

e T’/%”
SHOF SEAL 7
/

—

s i
GLASS
REF.

/ 1 2z

I 5/16" INSULATING

LAMINATED GLASS

/1 7\ 90 15 CORNER MULLION DETALL

1-5/16" LAM. GLASS

W SCALE: FULL

UMAAO35-0!

/1/6“ THK. ALUM. CLOSURE

[®

SECTION A-A

“Lumiot

J_J L
’?T'ﬁl %‘
Z 178" THK. ALUM. SHT
E W/ALCODINE FINISH
- L
2 :
- M w.P, <: UMI02
LLAR  lumanoscol L
1/8 THK. AL ANG. ——— 1| T ) 30 0 ) a1 )Y,
CONT. VERT. ~z
1 7
| UMZ07 _
| . —
©e T
SHOP SEAL 4 - i
X / ST
, . N 1_uMiol
GLASS RICR KR,
REF. [ e &2e 10oc |
€ L 2L v””“m“
) b || | DL
/ @ i2ro.c.

/~ 2 "\ 90° IS CORNER MULLION DETAILL

W SCALE: FULL /16" LAM. GLASS
- |
N _
© [ 9
= l =
= =
—

24

g‘g

N

i

il
,H/r WIALODINE FINISH

3.

3
18" THK. ALUM. SHT L

R

|

IR

Z
| UMAAO3G-01 ]

T T ey

/8 THK, AL|ANG. — "}

CONT. VER]TA

R

) ,

SFéS?AL 4 ]
/

JLﬂJ /®
<X B}
L_umiol

/3 "\ 90° 15 CORNER MULLION DETAIL

w SCALE: FULL 3/16" ALUM. SHEET

bN

i @ 10" 0.C. L
@izo.c

|

l

3

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

o769

|DRAWING NO.: PA-UM-SM-07-350

DATE: 05/20/2005 |SHEET: 17 OF 34




-
&

I

LN

UM 503-8" LG.

ALUMINUM FRAME HOOK AND FRAME
HOOK RECEIVER TAPPED FOR A 1/2"

X 3/4" 5/5 JACKING SCREW - ASSEMBLY
ACCOMMODATES | 1/2" UF/DOWN
ERECTION TOLERANCES

9/16" LAMINATED GLASS

————— A

1:1; et

il

il

1l

I

Il i
I ]

:; '8 TG
I

]

I

]

b — —

=]

e
|
e

N
S|

n
o ——1

—— UM 504-34" LG,
ALUMINUM FRAME HOOK WITH

1/4"-20x 1/2" CAP SCREW TO PIN
FOR THERMAL AND SEISMIC
42+ LATERAL MOVEMENTS

]

5/8-11 x 2" HH BOLT $/5
WITH LOCKWASHER AND NUT
ON A 3" LONG LOCK

BLOCK

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

PRODUCT:

UM CW SYSTEM
SMALL MISSILE

PREGLAZED & UNITIZED

——

e — — L

DADE COUNTY STAMP:

PRODUCT REVISED
23 eomplylng with the Flsride

Baiding Cede
09-0714.07

Aeseptanes e
Uiphwtion Dote, JULY "], 2015

i
I
bl
Pl
. ‘ B L%" -
k ‘ 1%
| opoevocdne el
=; :_ f = = 1 _UM50I ¢ REF. TOP OF SLAB @TYP FLOORS
i i T VA -
L ¢z Tz, 4 <
T A
N RGN a4y, |
U ~——
b e~ N2 N : 44 4 2
LTI —— 20 e —— . CONCRETE EMBEDMENT
i ’ < i ! ~ ")~ \{\“9. 1S PER SIGNED STRUCT. 3
I %:_ﬁ_; ! ~~ N —— CALCS ON.A PER JOB
| A T - - ~—— ) BASIS
| A R\ za .
< 4 h P 4 A : e ==
P I | < A "O\ﬂ_ =~
f :; : ! < 4 = ‘a 4
L J -
b y - ,
< | |
4 . < 4 s
‘ IR “
< I I 4 A
b 7 4
A S A
v < Ll LU <
pa) 4 <J
ZL" A
2 — 4 4
+ |-1/2" TOLERANCE . A NOTE:
EDGE OF SLAB < 4 THE ANCHOR SYSTEM IS
< DESIGNED TO ACCOMODATE
£ | 172" UP/ DOWN/ IN/ OUT &
RIGHT/ LEFT FIELD TOLERANCE
< ‘g SEE SHT # 19 FOR TOP VIEW.
pa)
4 < 2 /1 "\ ANCHOR DETAIL @ CONC. COND.
. g 1 SCALE: FULL
4 NEW
< 4
<
4 s 4
< ya)
<
< A -

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

| (Bocicdedboteoy
@7/0//0 9

[PRAWING NO.: PA-UM-SM-07-350

FJATE: 05/20/2005 |[SHEET: 18 OF 34




I %) UM 505-8" LG.
/—. ALUMINUM FRAME HOOK AND FRAME

" 0.39 | HOOK RECEIVER TAPPED FOR A 1/2"
i X 3/4" 5/5 JACKING SCREW - ASSEMBLY
I ACCOMMODATES | 1/2" UP/DOWN
[4 ERECTION TOLERANCES

., NOTE:DEAD LOAD ANCHOR
SCREW NOT REQUIRED

PERMASTEELISA
NORTH AMERICA

AR
—
i

NN //‘mfﬁ}ﬂ'/ﬁéﬁw HOOK WITH 7933 NW, 71st Street; Miomi, FL 33166
1/4"-20x 1/2" CAP SCREW TO PIN _ -
” e S Phone (305) 592-1212  Far (305) 599-1342
1 LATERAL MOVEMENTS 5/8-1 1BOLT 5/5

WITH LOCKWASHER AND NUT

ON A 3" LONG LOCK
BLOCK

I
I 5. 4
UM 503-8" 6. I e REVISIONS
ALUMINUM FRAME HOOK AND FRAME I
HOOK RECEIVER TAPPED FOR A 1/2* I 1L -
X 3/4" 5/5 JACKING SCREW - ASSEMBLY I 2 (. 1| .Y, Vo Ter-8
ACCOMMODATES | 172" UPIDOWN d oty T T R e D
= T
H ol ¥
f

e

\
!
ERECTION TOLERANCES ' l_
|
|
|
|
|
|
|

il
v ;; SHNE f
(o) “ ]
: :: ,
— l H e
_ | ! ;; | e
G N " TR PRODUCT:
” N2 T R
! ter | - | ! UM CW SYSTEM
7

i
I | — UM 504-314 L6

! =7 ALUMINUM FRAME HOOK wiTh /1B Ath(FHOR DETAIL @ CONT. CORNER ANCHOR SMALL MISSILE
! | o TS e NV PREGLAZED & UNITIZED
if o TS0 i
:: . / ON A 3" LONG LOCK
LOCK
i
le o : : T DADE COUNTY STAMP:
it l% _
f | ,[ PREDUCT REVISED
'z 1 UM502
I l ‘ (! T
i e e e 7
” lL;_ i = | umso; I
U I
1f
! || NN \\
:: . ' [ STEEL STRUCTURE IS
I PER SIGNED CALCS
I . ’ | ON A PER JOB BASIS
! |
il
it v | | ENGINEER STAMP:
I | L1 | CONRADO S. CASEM, P.E.
!I . FLORIDA P.E #: 55248

/"1 "\ ANCHOR DETAIL
w SCALE: FULL <

oole?

] i —
it + 1-1/2" TOLERANCE NOTE
9/1 6" LAMINATED GLASS : GE OF 5T, :
” , FDGE OF STEEL SUPFORT THE ANCHOR SYSTEM IS
It utt DESIGNED TO ACCOMODATE
By ,'1” | = | 1/2" UP/ DOWN/ INf OUT &
i RIGHT/ LEFT FIELD TOLERANCE

i SEE MD 100 FOR TOP VIEW.

IDRAWINGNO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 19 OF 34




i~

IS
RS
NT‘

UM 501 AL. ANCHOR CL.

SLOTS 3 /2" x 1 i/1e"

5/8"1 | x 2" LG. FH BOLT (5/5)

W/ LOCK WASHER

ONA 3" LONG LOCK BLOCK.

UM502 LOCK BLOCK.

1N

1/4'9 -20 x1/2" HEX SOCKET
,_—’—/_’ CAP SCREW STAILESS STL,

(+/-1

EDGE OF SLAB
OR STL. SUPPORT

172"

i
-
I
i
|
o
|
|
1
i
]
! CW INSULATION
AS REQD
ANCHOR BLOCK TO BE
BED IN SEALANT I g
(wrcay —= Tt — T
o
v
5 T 7 FACE OF GL.
I
o —— e
| S B
~d
1 — Ll ]
J 1 I 1
— ty — iy SEE SHEET # 14
FOR DIFFERENT GLAZING
o
G muLL

/1 "\ 3" MULLION_ANCHOR TO STEEL STRUCTURE

W SCALE: FULL

A

PERMASTEELISA
NORTH AMERICA

Phone (305) 592-1212  Fax (305) 599-1342

7933 N.W, 71st Street; Miomi, FL 33166

SMALL MISSILE

REVISIONS
PRODUCT:

UM CW SYSTEM

PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

FLORIDA P.E.#: 55248

( Lowiadoddeicio,

I7fer /o7

CONRADO S. CASEM, P.E.

DRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 20 OF 34




N~

N—

0

UM 501 AL ANCHOR CL.

SLOTS 3 172" x L1/16"

5811 x 2" LG. Fit BOLT (5/S)
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

UM502 LOCK BLOCK.

1/4'D -20 x1/2" HEX SOCKET
CAF S5CREW STAILESS STL.

EDGE OF SLAB
OR STL. SUPPORT

e 7/
i | N\ < N N /\/ );! INSULATION MULLION
112 N7 N WRAP AS REQ'D
A% UM504 e |
AN
N/
l’ > BACK OF MULL
N M503 .
" e
——:————:———'r“—‘—r—_——_-r—? ==} T____l____‘____r__—r_—"_‘l'___'l'____
| ! I |
) | 1 | | ! !
N S A S IO R A ! !
I [ I i B
| | | | ! |
l i 1 1 1 !
1 ! ! | ! !
TTroTTTro T AT AT Tt B kEEE T | ===y Aty oo A A e e Pt
i | b ) | {
] | | | | |
b 1 1 i ! !
B e e e e R At Rk el bl d el e = oo B N A o % A A e et e S e R e R s At
| I | | | |
| | 1 | | ! !
| | | | | |
-—'-———+*"AN8{HURB KTO = e ittty
! : | eeD i scaagr | : Al i |
i | i | (TYPICAL 1 | il 1 i
T 2 g WU E MY SRR 1 1 o L___L
| ! | | i | | I jy ! !
1 ! I t ! 1 ! Iy [ [
| 1 1 | | i | 1 ! [
Y IO O AU O (R A IR SO o | RSSOy BN FUUUR I DS
| [ ! 1 ! | [l r '
sdemecosdocdo s el s d o s w e e Y Yy Ny Mg L U
|
|
o
et
= 3
BE
FACE OF GL.

SEE SHEET # 15

CW INSULATION

AS REQD

FOR DIFFERENT GLAZING m 3 1/2" MULLION ANCHOR TO STEEL STRUCTURE

w SCALE: FULL

7

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

el

IDRAWING NO.. PA-UM-SM-07-350

[DATE: 05/20/2005 |SHEET: 21 OF 34




FACE OF

ST.BM. T

INSULATION MULLION

WRAP AS REQ'D

3
A

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fox (305) 5091342

N IS
SR NI
AN PR %
M50 1 R:_\«mnm N //Fﬁ\
% \\&z//

5/6'M FILLET WELD

I 1/4"LG. (4) PLACES

AT CENTER AND BEHIND

BOLT

EDGE OF SLAB
OR STEEL SUFPORT —‘

[‘ SET SCREW NOT REQUIRED

1 AT BOTTOM ANCHOR
2 (WINDLOAD ANCHOR)

J

N

CW INSULATION

AS REQD

imbnlatinl v)v,r-41

UM2:

TO € MuLL

/17 90° 05. CORNER MULLION ANCHOR TO STEEL STRUCTURE

A._
=

ok

KZ_Z/ SCALE: 1/2 FUL

REVISIONS

PRODUCT:

UM CW SYSTEM
SMALL MISSILE

PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

@7/0//07

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 22 OF 34




UM-506 (81.G.) : :
| |
/UM-507 ©16.) ; i ]
l
(0'39 [o37® Al L PERMASTEELISA
- L NORTH AMERICA
] -‘ (PROJECT TOLERANCE I I
T J‘ + 13401 14 : : b
I | 015 1875 ; | 1t 7933 N.W, 71st Street; Miomi, FL 33166
' UM 504-304 lg. O | Phone (305) 592-1212  Fox (305) 5991342
L | & 120 | ALUMINUM FRAME HOOK WITH : ; C---”-] E
= = ° B it b - »
; Il LATERAL MOVEMENTS (- [
‘ _U : : [
t | U306 @16
| | 1507 167
i L - REVISIONS
I ; 0.39 J-u.375 &
Lo I ey | I R S 1
Sk tcdoa o ! TI T o e A :
s R S
& ! e 6
| 2% 3
| 5 ‘
- | 3
Lo ! ¥ | 3
] : : J | ’lﬁ' )) 062609 CHANGE COMPANY NAME AG
| | - IL ] | S o oo RV# DATE NOTES BY
[
ST | i ME R \ PRODUCT:
- I
il I I -
| Lo ! W 47 50t e
) ! o ThiEaE I
p | ' ! b
L : R o SMALL MISSILE
— — ! o ) . PREGLAZED & UNITIZED
| J | | (1129
UMS08 ] BACK OF MULL : : ! :
I I I
I I Lo
b i | DADE COUNTY STAMP:
I I Vo
_______ : : : : FROGDUCT REVIEED
! ’ [ b %.the Plovkls
2p | ‘ I
5 I I
(= 17127 -9 o
Ll L CONCRETE EMBEDMENT
15 PER SIGNED STRUCT.
CALCS ON A FER JOB BASIS
ENGINEER STAMP:
CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248
m 90° 05. CORNER MULLION ANCHOR TO CONCRETE STRUCTURE m 90° 0S5. CORNER MULLION ANCHOR TO STEEL STRUCTURE
\Z_y SCALE: FULL SCALE @ SCALE: 1/2 FULL
07/0//0 9

|PRAWINGNO.:  PA-UM-SM-07-350

IDATE: 05/20/2005 (SHEET: 23 OF 34




/

UM 501 AL. ANCHOR CL,

SLOTS 3 172" x tiie".

5/8"-1 1 x 2° LG. FH BOLT (5/3)

W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

/

-

UM502 LOCK BLOCK.

EDGE OF SLAB OR

T
STEEL SUPPORT v

1/4"@ -20 x1/2" HEX SOCKET
CAP SCREW STAILESS STL.

INSULATION MULLION
WRAP AS REQD

[

2b

Ml :
I | » /r (+-171729
NS
BACK OF MULL NN, dy@/\ . J
= Sy crrrx
ANCHOR BLOCK TO BE i a7
ket
BED IN SEALANT i | : : ! " 4" THK. CW20
(TYPICAL) ‘ | TR L~ INSULATION (REF. ONLY)
I i U
CW INSULATION — ==r=—= L | o (s st
AS REQD I Y L 1
e o Lt AT
N I, (tamnd }
= AL T g
g e _|_”_!__T__f__’__f il 2
! SR ST /; i\
1 I BN A -
_ ! VNS b I -
QOROB b
I | Y |
T S S I S 4 3N 4
]
- = 4
T
— ENULE

i
i
|
I
I
I
I
!
L
;J_l
|
|
L
I
|
L
N E‘
|
I
i
|
|
|
I
}

N~

(+- 11729

/17 90° I5. CORNER MULLION ANCHOR TO STEEL STRUCTURE

w SCALE: 112 FUL

A

UMS01

SLOTS 3 1/2%1 1/16"

UM502 BLOCK

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 5991342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

YESHD
% the Florkde

PREDUC

TRE

m Dode

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

.QWWWZ%
07/&/07

DRAWING NO.: PA-UM-SM-07-350

DATE: 05/20/2005 |SHEET: 24 OF 34




N
LTI 01
1+
[CITOT
1+ H

4 H 4
O
=+
INENENE
A=
1 T
L
e
HTr= T
4
T

-
NN
HtH+

CW iNSULATION
# MULLION WRAP
AS REQD.

UMAM 1 40-0 1
1/2" X 6" LG STL PLATE

LODULE

I
i
I

“6)
UMAM 1 41-01 fz_\ A
172X ET6 STOPIATE —

& L6) V v
5/16* FILLET WELDS

4" LG BEHIND HOLES

|1’wﬂ

S

e

N S N ) OO

2 PLACES-CENTERED
5/16" FILLET WELDS
V141G
4 PLACES / \
LMAM i 39-01
2" LG FLARE BEVEL WELDS 2X 2X 1/4" STLTUBE

4 PLACES-AT EDGES SHOP WELDED

-

=
1
+

OOOB

OMOO4

/~ 1\ MULLION BRACE DETALL

25 scae iizro  (OPTIONAL)
ALTERNATE DETAIL

&
#

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

E.O.STILABEAM.

BACK OF Cw

i
UMSH/i[ ]

/2 "\ DETAIL AT 3-1/2" HEAVY DUTY MULLION

REVISIONS

PRODUCT:

UM CW SYSTEM
SMALL MISSILE

PREGLAZED & UNITIZED

SCALE: 172 FULL
25

ALTERNATE DETAIL

DADE COUNTY STAMP:

REDUCT REVISED
with the Fleride

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

ﬁ&mu&ﬂw@aﬂﬁv
07/0 //0‘7

IDRAWING NO.: PA-UM-SM-07-350

lDATE: 05/20/2005 |SHEET: 25 OF 34




5.
e

i
UM 103

3"

B
&)

% b
. . g ] |
4 Y s o
- ' 1 | :
— o — e o | :
1 i | 3
t g : ) @O
t _g | | S [{p) 5 K )
| ® | | ) 5
| 5 | o ¢ PERMASTEELISA
E | | : ') § I _ 1 5 NORTH AMERICA
| : ; // 3 L L= ° []5 ~ o
| | i = ' N y & 7933 N.W, 71st Street; Miomi, FL 33166
‘ S, - = = 48 ® Phone (305) 592-1212  Fox (305) 599-1342
= =1 | 1 Fss——+ — s E s -
= Lk N | R |, R " }J‘ o S| er I3RS
i B N Dy = gz  ELLBE
- = z Bk X Y 3 €8 25:8%
z 2 r 48 o g8 QZigc
i — S — S0 w33 £5  gSuxs REVISIONS
oo _ _ _ _ [aYRTa] — ] oL gi ‘LQOQE
z ¥886 % B
N = qhzrd S
e v 2P8%g
] - » 8 g"% ’
L 2 5
n I o P U -
— 1 1 Bl T B
————————————————————————— o L 7 LT 77 - !
T n ! 7 ”J%%%%%%%%%%%%%I/mmmwmm 3
T T T e e e T L L7277 777 77 LY LT 777 3
I I I } oty T T T T T e T T e D777 W AY & o
R - ] At et S I z
____i___i_i____: ____: | %E - T j A2 ATE NOTES By
R <E PRODUCT:
| 1 I | Yy i
N S U £8
e —— N T~ 3
o bh | UM CW SYSTEM
R S S K
| | | {! ® SMALL MISSILE
pm e = et . —]
| f | | PREGLAZED & UNITIZED
~ | | I |
[ ——
EH-——F+——F = ——
o e T
o R N R DADE COUNTY STAMP:
e S S R P £ REVISED
-1 O T [ 1 ) g withtic Floride
L I o T kAl oy e e e e IS L rm Code
________ S = — = CUUTIALVIRNANANNANNANSSINSSR Y AT, Budding Loue
o s ST ST SIS P PR P 4 e, 0100807
- ANAANNN = _— 2,
T S o SESTEISY SIS RS “‘“‘“))‘}}‘“)}“/ AR T L gt
L 1 ! |
[ I I O —— J ‘e
[ =gt

¥
8]
&
®

| & MODULE

3
£ MULL

}

S
3
UM 102

_ _ _ _ o — @ A ;“é : ENGINEER STAMP:
' o CONRADQO S. CASEM, P.E.

FLORIDA P.E.#: 55248

i
UMA4Q[

TPICA ™~ |

AIR SEAL

@GASKE’(

—

g 1 -l

- /1 LONG VERTICAL FIN DETALL

\ZE/ SCALE: FULL (
(OPTIONAL)

@100C.
UM20:

D PVC THERMAL

SEPARATER AND
SOUND DEADENER

@ RIGH

07/0/ /0‘ q

DRAWING NO.: PA-UM-SM-07-350

DATE:  05/20/2005 SHEET: 260F34




T T T T
| bigl e | 1 /T

D —H N7 PERMASTEELISA

- 4 : if(gz . NORTH AMERICA

| bty 2
&9 N I t 11\ % EOPRENE AIR SEAL
D N e SESSESSSSSITST TS TSSO |1 1 ASRET mTen 7933 NW, 71st Street; Miami, FL 33166
"""""" ’ = =7 LA 63 Phone (305) 592-1212  Fax (305} 5991342
(3) 1/ BREAK FORMED ALUMINUM
STIFFENERS WITH 3/1 6" X 3/6" 7
NORTON V200 ONE SIDE ADHESIVE ¥ AI301 (REF. ONLY)
p TAPE AND SHOP APPLIED DC 795 E H s =
SILICONE SEALANT AT 38 1/2' 0.C. a7
con B s 4 T 1o
SOUND DEADENING Y | : | AS REQD
SPACER % 1 '
ZJ : r BTTM. OF MULL. REVISIONS
178 TK ALUM CAP AT TOP
o OF VERTICAL FEATURE —7 BOTTOM OF VERTICAL el -
A AN % _] %[_@ _______________________________ dumad L ,

ﬁép\ """ P U ’:‘./:"::f: i Pl R s A U L I T SR : AR SRR

I
7.
& ST
\l L T T | A ——— 7 T T T A 3
o —PH o N e N N |
: VTHK. 'y DG, [y ,: TOP OF MULL. P
% @\Zﬁ YLEIPTING + STABILZATON ANGEL TOF OF VERTICAL ol : i : ;I;l . U/gl%d?,/ @l 3
M | (a5 AR fv \ HERIZ. SPUCE\: . P
@) /4> ! ' : ” | j;]L_ - S = e S d ///\\\ , fAUTLT_:gf(\J %M{Rig ) D6-26-09 CHANGE COMPANY NAME AG
] | A y - t\»—(/i: TYP. N 7 [ RvA|  DATE NOTES oY
(ADA/P'/Ir 7 |\ < /*i CW INSULATION PRODUCT:
/1 "\ LONG VERTICAL FIN DETAIL @ STACK JT. i . s :
316" ALUM. \2_7/5CALE:FULL NI X
FORMED PANEL (I AN /|
1l N s
ny ! UM CW SYSTEM
|
Y
SMALL MISSILE
Ul Y R T N N PREGLAZED & UNITIZED
S I RO RN R NN WO i N | MULLION WRAP
Al ¥ [~ [ [ I I I | N | REQD
Al A T A (1 NN
417 NN N U S SNV S BN (1 BN ST
A ¢ ) : : : : : : | ,//\\\ /,’(\\l
1| 7 N T T N N | N 1 DADE COUNTY STAMP:
AN T 1 AU
AN’ l | PRODUCT REVISED
bl # H ing with the Floride
4
T
5 e A
16 SILICONE A
BITE / ;
]
11 &
3. ’ B
Zfééfﬁ? ;FNLIJQAHSI'I‘EFTC:AEEiWITH_/ a1
#12X 172" 5/5 PPH 5MS @ 9° O.C. 5/ ENGINEER STAMP:
STRUCTURAL SILICONE ;/ CONRADO S. CASEM, P.E.
Z%i%«ﬁgg/; FLORIDA P.E.#: 55248
4
4
4
¥
/

afefey
2 INTERMEDIATE PANEL TO PANEL
27 J%E’-10 (OPTIONAL)

(2
&2/

IDRAWING NO.: PA-UM-SM-07-350

F)ATE: 05/20/2005 (SHEET: 27 OF 34




PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:
UM CW SYSTEM
SMALL MISSILE
PREGLAZED & UNITIZED
DADE COUNTY STAMP:

P &
5" 4" 4" 5"
— ) — e 1" —
5" 5"
/_ SLOTS 3 1/2'x 11/16"
5/8"11 x 2" LG. FH BOLT (5/5)
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.
/—— UM B 2-3 LOCK BLOCK.
L —
1148 -20 x1/2" HEX SOCKET
///'_. CAP SCREW STAILESS STL.
EDGE OF SLAB OR
[ STEEL SUPPORT
4REF. s INSULATION MULLION
7 WRAP AS REQ'D
;?_T Ly [P AN TN — — ] —_———
y 7/ N\ SN /N Y Y
|\)\/ N¢ NN N N/ "
2
SN /\\ /\\ VA NN (-1 12
l <~ UM594 « o
,& //\ 2PN NN /N /N
N N % N \
” /’<\ AN )/ N\
/ N UMI02 | “uwfo3 N L7 um4o .
I = d l I 1 1 1 i ]
[ | [ [ 1 1 ! 1 1
| I ! | | i I |
| |
! ! l-l‘ ' | | | ! ! ! r
| | | | I
T _Jf h. __.L___J...__J__*_!T_-L___L___.L_ :
] | | | | I i !
1 | | 1 1 1 ! 1 I !
I [ 1 | 1 1 | | | " _
O S e S S S I - CW INSULATION
] I ! | 1 | ANGHOR BLOCK TC BE ) A5 REQD
: : : : : : ; BED(INSEALANT |
__LJ | | I ! | N I {TY_PIE'ﬂ')___
e i Bt ety i et it bl
| | | l | | ! 1
| I I I | I i L
S Gt S S | NS S SN I R
7
i o L e
! Ll _1._ 7
S S U I I A IS IS i =y i |
I 1 | | I i ) ! Il | j I
| | | | ! | l ! ) | I |
~~~~~~~ et =T RS 1 AU PV N WO R SO [ SR S
. ‘ I
I
i
UMZi | |
- L O
o, i
3 | #
.
UW20Z {1 { UM202 T I
C__UM203 ! | C_uMoo3 | 1 bl J
i i i
o ‘ [ | ’ /1 "\ VERTICAL FIN MULLION ANCHOR TO STEEL STRUCTURE
& MuLL ¢ !  muLL 28 J e (OPTIONAL)
| / |

FOR BALANCE OF DTL. SEE SHEET 26 ¢ 27

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

C@MM&M

@7/0//09

DRAWING NO.: PA-UM-SM-07-350

DATE:  05/20/2005 SHEET: 280F 34




FIELD INSTALLED

1/8" THK BY 2" WIDE

4" X 4" ALUMINUM PLATE
TO LOCK SUNSCREEN AT
THE O.5. 90° CORNER

I

e -
TN O\ A N VA

(2) FASTENERS
EACH SIDE
OF PLATE

FROM END CAF
HEN REQ.)

uM205
ALUMINUM FIN

9/16" LAMINATED

ol

GLASS

SIICONE SPACER
GASKET (TYPICAL)

NN

SETTING BLOCKS SET IN

SILICONE AT 1/4 POINTS

e et

UM 208

EXTRUDED ALUM.
[ ANCHOR TEE BRACKET

-}

Ry M
T

TYPE 304 ST. STL. ALIGNMENT FIN
{GF-974) - SHOP INSTALL WITH THE
KNURLS INSERTED INTO THE LEFT
END OF THE SUN SHADE - DRIVE THE
KNURLS ACROSS THE 3/8" GAP INTO
RIGHT END OF THE ADJACENT SUN
SHADE DURING FIELD INSTALLATION

HEX KEY SCREW AT @
1* FROM EACH END

UM 208

I 5/16" INSULATED
LAMINATED GLASS

VERTICAL COVERS

@ BULLNOSE

\
=)
—

U

,
(n
___V_\__

— 6"LG. LOCK
BLOCK

S
£
AY
7 \1
N i
N Vi |
N
N7
>
\

/1 "\ INTERMEDIATE HORIZ.DETAIL W SPECIAL SUN SHADE

@ SCALE: FULL

(OPTIONAL)

EXTRUDED ALUM.
ANCHOR TEE BRACKET

UM207

m—m e ———
e

TR
®

INTERMEDIATE VERTICAL DETAIL W SPECIAL SUN SHADE

\Z_y SCALE: FULL

(OPTIONAL)

3" SYSTEM OR
35" SYSTEM

CW INSULATION
AS REQD

INSULATION MULLION
WRAF AS REQD

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRSDUCT REVISED
23 compiying with the Flarids
Cede

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/0/ /0?

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET: 29 OF 34




? SLOTS 3 1/2"x 1 1/16"

UM 501 AL. ANCHOR CL.

5/8"-1 1 x 2" LG. FH BOLT (5/5}
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

UMS02 LOCK BLOCK.

/
N\ \
1/4'D -20 x1/2" HEX SOCKET
CAP SCREW STAILESS STL.
<
_____ A
UM504
|
2f &)
2
{(+/-1 1729 .
4

L UM503

1/8" THK. SPACER CHANNEL —~/
FASTENED TO MULL
@ SPANDREL AREA —

@)reip PvC THERMAL——]
SEPARATER AND
SOUND DEADENER

@SHOP SEAL

r
m

%
i

NN

. [y
D> ®y
n
&
O
N
AN
A

g
4
4 a
<
4 <
4
4 A
v .
<
o
4 _ 3
4 <

Alk AND WATER SEAL SILICONE PAD

L—""""" AT STAQK JOINT

Pa)

o
A
g ¢ 4
4
4
4 A
<
<7
o
AA
A
< L
<

|
# MULL ¢ MODULE
|

/1 JAMD DETAIL AT MULLION WO CAP

w SCALE: FULL

FACE OF WALL
PORTLAND CEMENT
PLASTER

EDGE OF SLAB
OR STL. SUPPORT

DRYWALL ¢ FRAMING

\

INTERIOR SILL TRIM BY OTHE e U
AS REQUIRE [ . .
P L
R . -
r——TT——- 3 UM302 || -1 o
i Lo
| oL
I [
I . 1
il Feo
|i [ p
i P 4
1! Ny
! | Ao
i P S |
i [ -
I Eeooo I
|I ;o ; I |
! | 1 I
I bt . 1
! (I | .
|: [ :I < <
.
i RS N a .
I ARERR RN ‘ 4
| [T B
| - N </
! I - N
[ ——— [ |
I Lol
|| _L . : A <
! T 7% A
Al L 4
! uMioz umibl b 7 i _ 4 A
j <7
' _] v, s <
1% [/_//
— o=t '
l—{— ﬁ :L;/ /I Y A’ v
vo 53 A
| :// 4 __;%\EH:L < o 4
AAO48A) 1 (1 7'1.G) ABOVE ANCHO
-/ Vo e ’]| S AA045D2() 016) BELOW ANCHORRG
1/8" THK. SPACER CHANNEL I(// s ’: . AIR AND WATER SEAL SILICONE PAD
FASTENED TO MULL v | T ATGTACK JOINT
@ SPANDREL AREA AN
VoM A :
I AT : Pa) 2
4 // | 7 <
| s 1A
v o
> 1
v oy . g
| e
Ve
s . pal
tr//// 1 g AA
i r;)/ <
|
</
| R | A <
r- 7 A :
© |,/// A i A4
ot | ,
p: Y <
3 |l 4
/] Sy
i
J </
o | ﬁl 4 4
____________ p— ) 4
[S~—UNMZ08 g
__________ __/_1C UM203 | o
)
o N <
L4 a Ad
L 7 _,l 3 L. pal
8 5
" </
@x100c G—— g
3¢ i
UMZ203 @ INTERM ‘
i |
UM202@ INTERM UM203@STACK JT—
UM201——-

("2 ™\ JAVIB DETAIL @ MULLION W/ CAP

-

FACE OF WALL
PORTLAND CEMENT
PLASTER

\3—0/ SCALE: FULL

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fox (305) 5991342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITZED

DADE COUNTY STAMP:

UCT REVIEED
tmg with the Floride

ENGINEER STAMP:

CONRADO S. CASEMpP.E.
FLORIDA P.E.#: 5528

D

)

07 /0//09

DRAWING NO.:  PA-UM-SM-0i5¢)
IDATE: 05/20/2005 |SHEET: 30 (34




SMS SCREW 300 SERIES

ST/ST.

al

I 5/16" INSULATING
LAMINATED GLASS

FLASHING AS:
REQUIRED
(BY OTHERS)

&3

UMOOG

bal
[o]
(3
s
BOTTOM OF S & \
5 / VERTICAL TRM 2 SMS SCREW
8
LT ‘ -
178" THK. ALUMINUM &' LONG [—FO.-GLASS DRAN
@ 26" 0.C. PAINTED WITH
P < |7 A
, " :
CONT. |1/8" THK. ALUMINUM 1 - 4" REF. "
< A . /8" MIN.
4 N
N
Pa) . 4
N
< \—114'D TAPCOMSCREWS 4
H Pa)
\Zé g
A : <
S'TOREF.F.O.GUASS . 4 4 <
Pa)
< 4 A

A
33}

ks
Gf
B
J- :

Fon

24 x 4" HIGH IMPACT
PLASTIC SHIM @ MULLION

(SET IN SILICONE)

ATTTTUTT VISR R T A ALY

PNLCET:

i

2. ] N4
32
‘ A
A 24
At g 2 v
4 <
7 .
LM ‘
A (2) § KWK BOLT ’
ﬂ@ __0O.C. @ MULLION A |
<
A .
<
q .

/1 "\ TYPICAL STARTER SILL DETAL

oo

SCALE: FULL

ALTERNATE DETAIL

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

FREDUCT REVISZD
&3 compiving with the Flaridy

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

@7/0//0‘7

IDRAWING NO.: PA-UM-SM-07-350

IDATE: 05/20/2005 |SHEET : 31 OF 34




SILICONE SETTING

BLOCKS SET IN SILICONE
AT 1/4 POINTS

174" X 1" PRESSURE
EQUALIZATION

SLOTS AT 1/4 POINTS
{TYFICAL)

ELEV.+ 41-0-3/4" g4
y

/0

Il
Y

s ;w‘l
B

70)

A R A

UM203

AT JOINT APPLY
DC123 TAPE
SET IN SEALANT

1/4" x 1/2" 5/5 SOCKET HEAD CAP SCREW
LOCATED 8" FROM THE LEFT END OF THE
STACK JOINT HORIZONTAL GUTTER - LOCK
INTO A SLOT IN THE SILL HORIZONTAL

TO ALIGN FRAMES

NEOPRENE AIR SEAL
GASKET (TYFICAL)

INTERIOR SiLL TRIM
AS REQUIRED

UMFS- 106, UMFS-80, UMFS-81
FIELD DRILL SEAL HEADS

NOTCH HORZ. UMQO2
AT BRACKET LOCATIONS

& T-0. CURB
4

D' 1/2" THR.BENT
/STL BRACKET @ ¢ MULLION

4" MIN.

3.
5%
1/4'0 WEEP HOLES /
AT 1/4 POINTS (TYFICAL) E
S K
I
FIELD SEAL ([E———————
12 5) UMOO2 %
17
SUBSILL ASSEMBLY
— —
) 4
b
Pal 4 . g
. A 4
FIELD SEAL g 4
4
CONT. BUTYL g
SEALANT-
4
<7 A ]
4 <
. 4 a A 4
g : 4 4
< 4
<
</
pa)
4
<
</
| 4
FLASHING MEMBRANE
BY OTHERS
g 4
| 4 4 , 7 4 <
4
4 4 _é

/1 "\ STARTER SILL DETAIL ON CONCRETE CURB

Qz/ SCALE: FULL SCALE
ALTERNATE DETAIL

(2) 5/80 HVA-HAS & HAS-E

5/8 HILTI ANCHOR.

MIN. DEFTH OF EMBEDMENT=5"
UMFS-083, UMFS-104
UMFS-105

FLASHING MEMBRANE
BY OTHERS

l—UMFS—lOG, 080, 081
| FiED DRILL, SEAL HEADS

NOTCH TO CLEAR
ANCHOR CLIP

AMQh301-01
SUBSIL AS=EMBLY]

N |
|

21t x | § HH BOLT
5/5 - WITH FW AND LW

STRUCTURAL STEEL SUPPORT
STEEL TUBE SHOWN

DRILL AND TAF HOLE
IN STEEL TUBE
UMF5-083
UMFS-097
UMFS-107

9I'x6"x /2" THK.x 12" LG.
STL BENT ANGLE

AR
S

7R

%

/2 "\ STARTER SILL DETAIL ON STEEL STRUCTURE

N

SCALE: FULL SCALE

ALTERNATE DETAIL

A i

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 5921212 Fox (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRODUCT REVIBED
&3 epmptying with the Floride

Butding Code

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

C—Q@Wimﬁm

O1f01/07

IDRAWING NO.: PA-UM-SM-07-350

lDATE: 05/20/2005 |SHEET: 32 OF 34




!

FIELD SEAL DC-795
¢ BACKER ROD

SHOP SEAL - SILICONE /
AND BACKER ROD

K\

/1 "\ COPING DETAIL WITH PARAPET WALL

@ SCALE: FULL SCALE
ALTERNATE DETAIL

I-2pr
o FOZTE%.’"SL”JSZ“,
|
7 77 1
AU ( O [ !
- NANAANAANIN \ (
g ; SO A gl
- ‘ ~
o~ | CONT. DOW CORNING
s TAPE o~
Ve 7 WODOD BLOCKING AS REQ'D - B
] [ -~
7 BRK MTLiMcAoASTB.' : 27z -~ 7 3
] NI T ]
/‘ //’ —
[ T Vi -
e e
W S NN N ey ~
SEAL SCREW HD H hl )\: s A P : /4 : ; | ; ? ~ ]
A RS & I e
\ 4 NV NN SN ﬁlm(‘ -
‘ I % > /\m:::[/ n b 2
Béjzw\x/\ 7N/ \;KZIA:HH N T
N AN 2 D ) @SET s
A N/ Ny LNy IN SICICONE 1z
I AN X
: OO OIS
° 3 N N 7N P
N UMOo2 T T v | N1 N/ NN
e 0 > X~ 7
LUL'JL{J‘L“ = | | lb\ 7N 4 A4 \JI /H:H') CONTRACTORS NOTE:

\@ 3 | < ! >< >‘ M PARAPET STUD WALL AT ROOF BEHIND
| Vv NS N\ ! \IIIII (J CURTAINWALL FRAMES, TO BE INSTALLED
| ><1 >< >< | [RENA (I AFTER CURTAINWALL IN PLACE TO ENSURE
| NP AR PROPER HEIGHT AS DETAILED.

| Voo N >/ N/ \K |;|||ﬁ
1’\ }/ N SN PIVTTUA sTeEr STUD W/ BATT INSULATION

| Y N/ WAND SHEATING PARAPET BEHIND CW FRAME
| AN N /H]HMASREOUIRED

| v |r\,< x N/ Kot A
N SN AN FLTELW -

| | >(/ 4 \>< v N ROOFING MEMBRANE (BY OTHERS)

f LS N

| AN 2NN INC N

| > o K > o

| C o OOK

| N vON N SN \nmpJ

| N i

1 Voo < NSNS \|< LA

[ NI/ SN N A NERRRL

SIS
k- ‘% y o CW INSULATION AS REQ'D
-

/— EXTRUDED ALUM COPING

PAINTED ALUM

E BACK PANEL

/2 "\ COPING DETAIL W/O PARAPET WALL
@ SCALE: FULL SCALE
ALTERNATE DETAIL

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fox (305) 509-1342

REVISIONS

PRODUCT:

UM CW SYSTEM
SMALL MISSILE

PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(Lowidadbeccs

o7j01]09

IDRAWING NOo.. PA-UM-SM-07-350

JDATE: 05/20/2005 [SHEET: 33 OF 34




COVER.

BE DESIGNED TO WITHSTAND THE DESIGN
LOADS AND ANY IMPACT BY SPECIALTY
ENGINEER REGISTERED IN THE STATE OF
FLORIDA. CONTRACTOR TO SUBMIT
APPROVED DRAWINGS UNDER SEFPARATE

SOFFIT SYSTEM (BY OTHERS) SHALL

CURTAINWAL INSULATION
AS REQUIRED

DOWN 4* MIN. FOR L.L. DEFLECTION

a ® a Y > S R ” st s 20 A
N 0 A b : [NV N 4 >
- [N . A N s . } A -
b 4 i BOTTOM OF CONC. . . ) 4 :
A N 4 an BEAM OR 5LAB 4 ' i DY
[ . A . B N I' : . A AN -
—~ ~ — ~ — = = = == UMS50i [ BOTTOM OF BEAM
A g A 4 A - CONT. DC I £ it —— ]
\ / \ / \ / S T I s — ““-_H-“““u;/l_s_o?
oy Vo Vo R
I I b aE LN
/ \ / \ / \ DC |23 Tare Q__:‘_h Ly
MULL JOIN
° \ " KWIK-BOLT @ 5* 0.C. MIN
/ \ / \ / \ \ # DRIL FLEX WITH FLAT WASHER AND NUT
= ; ON A 3" LONG LOCK BLOCK,
/ \ / \ / \ T T r_ 2/4" EMBEDMENT MiN.
/ \ / \ / \ ’ '
\ / \ / \ @ @ l UM 504-10"1G.
\ / / \ / — ! ALUMINUM FRAME HOOK, WITH
/ 1/4"-20x 1/2" CAP SCREW TO PIN
T T FOR THERMAL AND SEISMIC
2 roniy LATERAL MOVEMENTS
ANGLE CLIp
I I . l
e |
.062 PRE-PAINT :
/o /A ]\ e e N\ / ) < i
/ \ / \ / \ T ]
N Ve N e N e N S —_— ] —_ = ]
N N < > 7 [’l I
BATT IN5ULATION/
(BY OTHERS) |
|
l
l
l
:
BY OTHERS S
H NG
,7 =N
_________________________ —= == | \
J ! OPTIONAL TEMP. SET SCREW
NOTE: | WHICH MUST BE BACKED
I
l
|
|

—

TOP
VERT Ti

MODULE LINEJ

J

RIM

I
'3

o

ET umzoz/

IN SILICONE

! 5/16" INSULATING

LAMINATED GLASS Ta

$TOP OF HORIZ.

/1 "\ DETALL @ TOP ANCHOR

34 SCALE: FULL (OPTIONAL)
ALTERNATE DETAIL

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fax (305) 599-1342

REVISIONS

B

P
b
7
3
b
7
3
P
7

062600 CHANGE COMPANY NAME AG

RV # DATE NOTES ar

PRODUCT:

UM CW SYSTEM

SMALL MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

FRODUCT REVISED
23 eomplying with the Flaridy
gL

ENGINEER STAMP:

CONRADO S. CASEMP.E.
FLORIDA P.E #: 552i8

M Zan( 2o~

07/0//07*

DRAWING NO.: PA-UM-SM-Qi35C
IDATE: 05/20/2005 ISHEET : 34 (34






